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Abstract

I develop a model of optimal contracting between investors and asset managers that combines
moral hazard and adverse selection. Managers incur a private cost to acquire information, and
differ in their preferences and the private information they may acquire. The optimal contract
keeps the risk chosen by managers within bounds, even when the optimal level of risk given
managers’ private information exceeds the bounds. Risk limits arise because managers may
not acquire information and gamble for a high fee. The model assumes symmetric return
distributions. The case of asymmetric distributions is treated in Buffa, Vayanos, and Woolley
(2019).
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1 Introduction

To be written.

2 Model

There are two periods 0 and 1. The riskless rate is zero. A risky asset pays D in period 1 and
trades at price S in period 0. We assume that D takes the values S +d or S —d, where d > 0. The

prior probabilities of these outcomes are my and 1 — 7y, respectively.

An investor can invest in the risky asset either directly or by employing an asset manager. The
manager can observe an informative signal about the asset payoff by incurring a private cost. The
investor has negative exponential utility over consumption in period 1, with coeflicient of absolute
risk aversion p. The manager can be risk-averse or risk-neutral. A risk-averse manager has negative
exponential utility over period 1 consumption, with coefficient of absolute risk aversion p, and can
observe the signal by incurring a cost K. A risk-neutral manager has linear utility over period
1 consumption, and cannot observe the signal at any cost (K = oo). The probability that the
manager is risk-neutral is A\. Both the risk-averse and the risk-neutral manager have an outside
option of zero. Our assumed heterogeneity across managers captures the idea that investors are

concerned that managers may take excessive risk relative to their information.

The investor’s wealth in period 0 is equal to zero. This assumption is without loss of generality
because the investor has negative exponential utility. Denoting by z the number of shares of the

risky asset that the investor holds in period 0, the investor’s wealth in period 1 is
W =2z(D-29), (2.1)

the capital gains between periods 0 and 1. This wealth is gross of any fee that the investor pays

the manager in period 1.

If the investor employs the manager, then they agree on a contract in period 0. The contract
specifies a fee f(W, D) that can depend on the investor’s wealth W and the asset payoff D in period
1. Given the fee, the manager chooses whether or not to observe the signal and what position z in
the risky asset to choose for the investor. If the investor invests directly, then he pays no fee to the

manager and chooses a position z on the risky asset without observing the signal.

We allow the fee f(W, D) to be a general function of W and D subject to two restrictions.
The first restriction is that the fee must be non-negative, i.e., the manager has limited liability.

The second restriction, to which we refer as monotonicity, applies only to values of W that can be



obtained in equilibrium. The fee levels corresponding to any two such values W7 > Wy must satisfy
fWh) — f(Wa) > e(Wy — Wa), where € is a positive constant that does not depend on (W7y, Ws).
The constant € can be arbitrarily small, and in fact we focus on the limit of the optimal fee when
€ goes to zero. In that limit, the monotonicity restriction is only that the fee is non-decreasing in

W across values of W that can be obtained in equilibrium.

A non-decreasing fee is economically appealing because it ensures that the manager does not
engage in (unmodeled) activities that reduce W, e.g., costly round-trip transactions, so to raise
her fee. If, in addition, these activities yield a slight benefit to the manager, then the fee must be
strictly increasing. We impose the lower bound € on the fee’s slope to rule out that the investor
can separate the risk-averse and risk-neutral manager types by exploiting their indifference over z.

We elaborate on this point in Section 3.

The investor maximizes his expected utility over the following decisions: whether or not to
employ the manager; if he employs the manager, whether or not to induce her to observe the
signal, and what position z in the risky asset to induce her to choose; if he invests directly, what
position z in the risky asset to choose. The investor must take into account the manager’s incentive-
compatibility (IC) constraints on whether or not to observe the signal and what position z to choose.
These constraints depend on the fee. The investor only needs to determine the fee levels for the
values of W that can be obtained under one of the induced positions z. The investor can ensure that
all non-induced positions are always dominated for the manager by setting the corresponding fee
levels to zero: this ensures that only the induced positions need to be considered in the manager’s

(IC) constraints.

Four versions of the static contracting model can be studied, in order of increasing complexity.
In the first version, the prior probability g is equal to one-half, the fee f(WW, D) can depend only
on W, and there are only two values of the signal, which furthermore yield posterior probabilities
that are symmetric around one-half. The second version allows for a continuum of signal values.
The third version allows mg to differ from one-half, and signal values not to be symmetric around
7. The fourth version allows the fee f(W, D) to depend on D. The first and second versions
are studied in Sections 3 and 4, respectively. The third version is studied in Buffa, Vayanos, and

Woolley (2019). The fourth version is work in progress.

3 Symmetry and Two Signal Values

We denote the posterior probability of S 4 d under the two values of the signal by 7 > % and

1 — 7. By symmetry, the two signal values are equally likely. We refer to the risk-averse manager

with posterior m € {1 — 7,7} for S + d as the risk-averse type m. When not making reference to



a specific posterior, e.g., before the signal is observed, we refer to the risk-averse manager as the
risk-averse type. We likewise to the risk-neutral manager as the risk-neutral type. We sketch the
main steps of the solution of the investor’s optimization problem below, and provide formal proofs

in the Appendix (proof of Proposition 3.1).

We can simplify the investor’s optimization problem using six observations. A first observation
is that if the investor invests directly, then his optimal position is z = 0. This is because the
expected capital gains from the risky asset are zero under the prior probability mo = % A second
observation is that if the investor prefers to employ the manager, then he must be inducing the
risk-averse type to observe the signal and choose a non-zero position z. This is because if the
manager does not observe the signal, then she has the same information as the investor and hence
does not add value. The manager also does not add value if she chooses a zero position, which is
what the investor would choose if he were to invest directly. Based on these two observations, we
can restrict attention to two outcomes: either the investor employs the manager and the risk-averse
type observes the signal and chooses a non-zero position, or the investor invests directly and chooses
a zero position. We next characterize the first outcome, assuming that the investor prefers it to

the second.

A third observation follows from the symmetry of the problem: if a position z(7) maximizes the
utility of the risk-averse type 7, then the position —z(7) maximizes the utility of the risk-averse
type 1 — 7. This is because the fee depends only on the investor’s wealth, which has the same
distribution under (1 — 7, —z) as under (7, z): it takes the values zd and —zd with probabilities 7
and 1 —7, respectively. A fourth observation is that only a long position z(7) > 0 can maximize the
utility of the risk-averse type 7 (and hence only a short position —z(7) < 0 can maximize the utility
of the risk-averse type 1 — 7). Indeed, wealth under a long position z > 0 takes the same values, zd
and —zd, as under the short position —z but the probabilities are inverted: probabilities are 7 and
1 — 7, respectively, under the long position, and 1 — 7 and 7, respectively, under the short position.
Hence, under the short position, probability weight is shifted towards the negative outcome —zd
under which the fee is smaller. The optimal long position z(7) is strictly positive because when

the investor prefers to employ the manager the fee must be inducing non-zero positions.

A fifth observation is that if a long position Z > 0 maximizes the utility of the risk-neutral

type, then the short position —Z also maximizes her utility. This is because the fee depends only

on the investor’s wealth, which has the same distribution under (1, —z) as under (4, 2): zd and
—zd with equal probabilities. Hence, we can assume without loss of generality that the risk-neutral
type chooses Z and —Z with equal probabilities. A sixth and final observation is that because the
risk-neutral type is uninformed, the investor wants her to choose a position Z that is as close to

zero as possible. The investor may be unable to induce a zero position, but can at least ensure that



Z does not exceed the position z(7) of the risk-averse type 7 by setting the fee f(W) to zero for
W > z(7)d.

Based on the latter four observations, there are two fee levels that are relevant for the risk-averse
type and at most two additional fee levels that are relevant for the risk-neutral type. These are:
the fee f(z(7)d) when the risk-averse type observes the signal, chooses z = z(7) > 0 when she
has posterior 7 for S + d and z = —z(7) when she has posterior 1 — 7, and the payoff realization
is favorable (d when z = z(7) and —d when z = —2z(7)); the fee f(—z(7)d) when the risk-averse
type observes the signal, makes the above choices, and the payoff realization is unfavorable; the
fee f(2d) when the risk-neutral type chooses z = 2z € [0, 2(7)] or z = Z, and the payoff realization
is favorable (d when z = Z and —d when z = —2); and the fee f(—Z2d) when the risk-neutral type

chooses z = Z or z = Z, and the payoff realization is unfavorable.

The fee levels (f(z(7)d), f(—z(7)d), f(2d), f(—Z2d)) must satisfy a number of constraints. Non-

negativity and monotonicity of the fee imply

F2(@)d) — 2e2(7)d > F(2d) — e(2(7) + 2)d > F(—2d) — e(2(7) — 2)d > f(—2(7)d) = 0.  (3.1)

Additional constraints follow from incentive compatibility (IC). A first (IC) constraint concerns
the risk-averse type’s choice whether or not to observe the signal. Incurring the cost K and

observing the signal is preferable to not observing the signal if
_ [ﬁe—ﬁ[f(z(fr)d)—K] . ﬁ_)e—ﬁ[f(—z(ﬁ)d)—K]}

> max {_; [e—ﬁf(Z(ﬁ)d) n e—ﬁf(—Z(T‘r)d)} ’ _% [e—ﬁf(éd) n e—ﬁf(—éd)} } . (3.2)

The left-hand side of (3.2) exceeds the first term in the maximum in the right-hand side under the

following conditions:

e PK _2(1-7) >0, (3.3)

e _ o — e PK
plf (z(m)d)—f(—2(7)d)] ) 3.4
‘ = K _2(1_7) (34)
Equation (3.3) requires that the cost K of observing the signal is not too large. Equation (3.4)
requires that given such a value of K, the investor pays the risk-averse type sufficiently more when
she earns a high return (W = z(7)d) than when she earns a low return (W7 = —z(7)d). A sufficient
difference f(z(7)d)— f(—z(7)d) between the two fee levels is required to induce the risk-averse type

to observe the signal. The minimum required difference is increasing in the observation cost K.

The two remaining (IC) constraints concern the choice of position z by the risk-averse and risk-



neutral types. We consider the (IC) constraints concerning long positions only. These imply the
(IC) constraints concerning short positions only because of the symmetry of the problem, while the
(IC) constraints concerning both long and short positions are implied by the monotonicity of the
fee. We hence focus on the risk-averse type 7 and on the long position Z chosen by the risk-neutral
type. For expositional ease, we refer from now on to Z as the risk-neutral type’s position, although

that type chooses 2 and —Z with equal probabilities. The risk-averse type 7 prefers z(7) to 2 if
~|repe@d) 4 (1 - ﬁ)e*ﬁf(*Z(ﬁ)d)} > _ [ﬁefﬁf(fd) T(1- ﬁ)e*ﬁf(*fd)} , (3.5)
Conversely, the risk-neutral type prefers 2 to z(7) if

[f(2d) + f(=2d)] = 5 [f(2(7)d) + f(=2(7)d)] . (3.6)

N | =
N =

We denote by

the difference in fee levels across favorable and unfavorable payoff realizations for the risk-averse

type . We denote by

I(7) = 5 [f(z(7)d) + f(==2(7)d)]

N | =

the arithmetic average of the fee levels for the risk-averse type 7. We denote by

A

Il
~

(2d) — f(=2d) = 0,

I'=_[f(2d) + f(—2d)],

N

the corresponding quantities for the risk-neutral type. Because the asset payoff can take only two
values, the fee levels (f(zd), f(—zd)) corresponding to a position z can be described fully by the

average fee and the fee difference.

Using the constraints (3.1)-(3.2), we can determine the optimal fee. This requires determining
the positions (z(7), 2) and fee levels (f(z(7)d), f(—z(7)d), f(2d), f(—Zd)). The first and key step
is to determine 2z and (f(2d), f(—2d)).

According to the (IC) constraint (3.6), the average fee I' of the risk-neutral type must be at
least as large as the average fee I'(7) of the risk-averse type 7. If (3.6) held as a strict inequality,
then the investor could raise his utility by reducing payments to the risk-neutral type. Hence, the

average fees I'(7) and ' must be equal. Equality of average fees implies that the fees paid to the



risk-averse type 7 and to the risk-neutral type can differ only in A(7) and A.

Since z(7) > 2 and the monotonicity of the fee implies

min{f(z(7)d) — f(2d), f(—2d) — f(=2(7)d)} = e(2(7) — 2)d, (3.7)

the fee difference A for the risk-neutral type does not exceed its counterpart A(7) for the risk-averse
type 7. If, in addition, z(7) > Z, then (3.7) implies that the fee difference for the risk-averse type 7
exceeds that for the risk-neutral type. Hence, the investor can separate the risk-averse type © and
the risk-neutral type in terms of their positions (i.e., 2 < z(7)) only if he can induce the risk-averse
type to accept a riskier fee (i.e., larger fee difference) than the risk-neutral type. Separation is
possible for some parameter values because the risk-averse type observes the signal and is hence
better informed than the risk-neutral type. For other parameter values, however, risk-aversion

precludes separation. We next determine the conditions for separation versus pooling.

Multiplying both sides of (3.5) by e’ (™) = el we can write that equation as

— <7?€_§A(ﬁ) + (1 - ﬁ)egA(ﬁ)> > — (ﬁe_gA +(1- ﬁ)e§A>

& Gx(A(T)) = Gx(A), (3.8)
where the function Gz(A) is defined by
GA(A) = — (fre*%A +(1- ﬁ)egA) . (3.9)

The function Gz(A) gives the utility of the risk-averse type 7 when she receives a payment %
under the favorable payoff realization and —% under the unfavorable realization. This function is
hump-shaped: increasing for A € [0, A*(7)) and decreasing for A € (A*(7), 00), where A*(7) > 0
is defined by

PAT® = T (3.10)

1—7

Increasing A has two countervailing effects on the risk-averse type’s utility. On the one hand, the
expected payment conditional on that type’s information increases. This is because the payment
under the favorable payoff realization increases, and the risk-averse type has better-than-equal
odds of identifying that realization by observing the signal. On the other hand, the variance of the
payment increases, and this reduces the risk-averse type’s utility. The first effect dominates when
A is small because the risk-averse type is approximately risk-neutral and hence does not care about

variance. The second effect dominates for large A.



Separation is possible when the lower bound on A(7) = f(2(7)d) — f(—z(7)d), given in (3.4),
is smaller than A*(7). From (3.4) and (3.10), this condition is

27 — e PK 7 SK
) se 4(1 — 7). 3.11
e—PK—2(1—7‘r)<1—7‘r ¢ >4l =m)7 (3.11)

Equation (3.11) ensures that the function Gz(A) is increasing for all values of A between zero
and the lower bound in (3.4). Hence, the risk-averse type 7 prefers the position z(7) with the fee
difference A(7), to any position 2 < z(7) with smaller fee difference A. The investor exploits his
ability to separate by setting Z close to the value %, under which his net-of-fee risk exposure is zero,
and f(2d) close to f(z(7)d), with closeness becoming equality in the limit where € goes to zero.
The intuition in the case of Z is that because the risk-neutral type is uninformed, the investor wants
to have a net-of-fee risk exposure that is as close to zero as possible when facing that type. The
intuition in the case of f(2d) is that raising the difference A towards A(7) makes it less attractive

for the risk-averse type to not observe the signal. Indeed, without the signal, the risk-averse type

faces equal odds for the two payoff realizations, and hence her utility decreases in fee difference.

Separation becomes impossible if
2(1 —7) < e PK < 4(1 — 7)7, (3.12)

i.e., (3.11) does not hold and (3.3) holds. Indeed, since Gz(A) is decreasing for A > A*(7), and
since A(7) lies in that region because it exceeds the lower bound in (3.4), the risk-averse type 7
prefers any A € [A*(7), A(7)) to A(7). Hence, the fee difference A for the risk-neutral type cannot
lie in [A*(7), A(7)). In must instead lie in the increasing part of G(A) and not exceed the level

Aq(m) < A*(7) defined by Gz(A1(7)) = Gz(A(7)). Equation (3.2) then implies

— P (ﬁe’gmﬁ) +(1— ﬁ)egA(ﬁ)) e PP > —% (ffgA + egA) e Pt

& —ePK (fre_gAl(ﬁ) +(1- ﬁ)eiAI(ﬁ)> > —% (6 28 egA)
= —ePK (ﬁe‘gAl(ﬁ) +(1- ﬁ)egAl(ﬁU > —% (e_gAl(ﬁ) + egAl(ﬁ)) ; (3.13)

where the first step follows from the definitions of (A(7), I'(7), A, '), the second step follows from
D(7) =T and Gz(A1 (7)) = Gx(A(7)), and the third step follows from A < A (7). Equation (3.13)
implies that the lower bound in (3.8) applies not only to A(7) but also to Ay (7). This would mean
that Ay (7) > A*(7), a contradiction. Because the investor cannot separate, he must set 2 = z(7)

and f(2d) = f(z(7)d).

Completing the determination of the optimal fee is straightforward. The investor sets f(—z(7)d)



to zero and A(7) = f(2(7)d) — f(—=z(7)d) equal to the lower bound in (3.4) (assuming that € is
small enough so that the constraint f(z(7)d) — f(—z(‘)d) > 22(7)d is met). When separation is
possible, the investor sets z(7) close to the value 5 d log ( ) + AQ(;T), with closeness becoming
equality in the limit where € goes to zero. This value yields the optimal net-of-fee risk exposure
for posterior probability 7 for S 4+ d. When separation is impossible, the investor sets z(7) close
to the value that yields the optimal net-of-fee risk exposure for a posterior probability that lies
between 7 and % This probability reflects the fact that the same position z(7) is chosen by the
informed risk-averse type @ and the uninformed risk-neutral type. Pooling causes the investor to
discount the risk-averse type’s signal and to limit her position below the one in the absence of the

risk-neutral type. The investor’s decision can be interpreted as a risk limit, although it is a limit

to which the manager adheres voluntarily given the fee structure.

Proposition 3.1 computes the limits of the optimal positions (z(7), 2) and fee levels (f(z(7)d),
f(==z(m)d), f(2d), f(—2d)) when € goes to zero. The proposition additionally extends the fee func-
tion f(W) to values of W other than (z(7)d, —z(7)d, 2d, —2d) (while ensuring that the positions
(2(7), 2) are optimal when choice is over all values of z) and characterizes when the investor em-
ploys the manager. One way to extend f(W) is to set it to zero for all values of W different from

(2(m)d, —z(7)d, 2d, —2d). Proposition 3.1 extends f(W) as a non-decreasing function.

Proposition 3.1. When € goes to zero, the investor’s and manager’s decisions converge to the

following limits:

e [Separation] When e ?X > 4(1 — 7)7, the investor employs the manager if

pA (%)

e 2 [(1 — AVl —7)+ /2\] < % (3.14)

where A(7) = ilog (%) > 0. If (3.14) is satisfied, then the risk-averse type T
%

chooses z(T) = de log (1 ﬂ) + A(ﬁ) and the risk-neutral type chooses 2 = =7>. An optimal

fee for the investor is f(W) =0 for W < @ and f(W) = A(xw) for W > @.

e [Pooling] When 2(1 — 7) < e PK < 4(1 — )7, the investor employs the manager if

25 \/[(1 N7+ ;] [1 (1 M\F— ;] < % (3.15)

where A(T) is as in the previous case. If (3.15) is satisfied, then the risk-averse type ™ and the
ISR ‘ .
(L=N)7+ > + A(ﬂ) . An optimal fee for the investor
2

risk-neutral type choose z(T) = 2[1) - log

1—(1-\)7—2
is f(W) =0 for W < z(7)d and f(W) = A(7) for W > z(7)d.



In both cases of Proposition 3.1, the fee is a step function that starts from zero and ends at

A(7) > 0. The location of the step is different in the two cases. When separation is possible (first

case), the step occurs at @, which is the position chosen by the risk-neutral type. The risk-averse
type 7 chooses a position that exceeds @. Both the risk-averse type 7 and the risk-neutral type

are indifferent between their position and the position of the other type.!

When separation is
impossible (second case), the step occurs at z(7)d, which is the common position chosen by the
two types. The pooling position z(7) exceeds the position of the risk-neutral type under separation

but is smaller than the position of the risk-averse type.

Imposing the lower bound € > 0 on the fee’s slope and then taking the limit when € goes to
zero rules out separation for some parameter values. Indeed, when € = 0, the investor can employ
the fee derived in the first case of Proposition 3.1 and induce the positions under separation even
when the pooling condition e PX < 4(1 — 7)m holds. This outcome, however, relies heavily on the
manager’s indifference across different values of z. Imposing ¢ > 0 breaks this indifference and
makes it impossible for the investor to achieve the ranking of positions under separation (2 < z(7))

when e PK < 4(1 — 7)7.

An increase in the cost K of observing the signal favors pooling. This is because the investor
must pay a higher fee f(z(7)d) to the risk-averse type conditional on high performance, to ensure
that she observes the signal. That type is hence exposed to more risk, and the position of the
risk-neutral type, which is less risky, may become more attractive to her. A decrease in signal
informativeness, as measured by the posterior probability 7, also favors pooling. This is because

the risk-averse type becomes less informed and hence less willing to take risk.

We finally consider two limit cases to which we return in subsequent sections. The first is when
the risk-aversion coefficient p of the manager becomes large, while the risk-aversion coefficient p of
the investor and the product pK are held constant. To motivate this case, suppose that the investor
is an aggregate of a large number N of individual investors, each with risk-aversion coefficient p,
and that the manager has also risk-aversion coefficient p. Define one share of the risky asset to pay
off (S +d)N or (S —d)N instead of S+ d or S — d. The risk-aversion coefficient of the investor
group is £. Redefine the numeraire so that one new unit is N old units. The payoff of one share
then becomes S + d or S — d, and the cost of observing the signal becomes % Moreover, absolute
risk-aversion coefficients are multiplied by N, so the risk aversion of the investor group becomes p
and that of the manager becomes Np = p. Raising N hence raises the risk-aversion coefficient p of
the manager, while the risk-aversion coefficient of the investor group remains equal to p. Moreover,

the product of p times the cost of observing the signal remains constant, and so does the payoff of

They are also indifferent between their position and any other position z that exceeds 2 and differs from 2(7).
Such indifference, however, can be broken by setting the fee f(W) to zero for all values of W other than (z(7)d, 2d).



one share of the risky asset.

Proposition 3.1 implies that in the limit, A(7) is of order %. Hence, the fee becomes negligible
relative to the investor’s wealth. The fee’s contribution AQ(;_F) to the optimal positions Z and z(7)

also becomes negligible: the investor’s risk exposure gross and net of the fee is approximately the
same. Because the fee becomes negligible and the manager brings valuable information, the investor

always employs the manager, i.e., (3.14) and (3.15) are always satisfied in the limit.

The second case adds small uncertainty to the first, and is particularly useful when integrating
the model in a continuous-time setting. We take d to be small, the probability 7@ of S + d to be
% + pnd, K to be %, and p to be Np, where N is large and (f, k, p) are held constant. Proposition
3.1 implies that in the limit, A(7) is of order % and hence small. Although the fee is small, the
investor does not always employ the manager because the signal has small informational content.
Equations (3.14) and (3.15) imply that the investor always employs the manager if % is of order
smaller than d?, never employs her if % is of order larger than d?, and employs her depending on
(I, ke, A) if % and d? are of the same order. We do not provide detailed proofs for these results, but

do so for their counterparts in the case of a continuum of signal values in the next section.

4 Symmetry and a Continuum of Signal Values

We denote the posterior probability of S + d by m. Since there is a continuum of signal values,
7 takes values in an interval according to a continuous density h(w). Symmetry implies that the

interval is of the form [1 — 7, 7] for # > 1 and the density satisfies h(r) = h(1 — ).

The observations made in the case of two signal values generalize as follows: (i) if the investor
invests directly, then his optimal position is z = 0; (ii) if the investor prefers to employ the manager,
then he must be inducing the risk-averse type to observe the signal and choose a position that is
non-zero for at least some signal values; (iii) if the investor optimally induces the risk-averse type
7 to choose a position z(7), then he optimally induces the risk-averse type 1 — 7 to choose —z(7);
(iv) only a long position z(7) > 0 can maximize the utility of a risk-averse type © > %; (v)
if the investor optimally induces the risk-neutral type to choose a long position zZ > 0, then he
is indifferent between that choice and inducing —Z; and (vi) the position Z does not exceed the

maximum position of the risk-averse type.

Based on the above observations, the relevant fee levels are f(z(m)d) and f(—z(m)d) for 7 €
(2,7, f(2d) and f(—2d). These fee levels satisfy non-negativity, monotonicity and incentive com-

patibility (IC) constraints.

The (IC) constraint that concerns the risk-averse type’s choice whether or not to observe the

10



signal is

_9 /7r [m—ﬁ[f(Z(W)d)—K} . 7T)e—ﬁ[f(—Z(W)d)—K}] h(rm)dr > —e P10, (4.1)

1

2

The left-hand side of (4.1) is the utility when observing the signal. The coefficient two is present
because symmetry implies that the integral of the utility from % to 7 is equal to that from 1 — 7
to % The right-hand side of (4.1) is the utility when not observing the signal and employing the
prior probability my = % The optimal position in that case is zero, same as when observing the
signal and having posterior m = %

Consider next the (IC) constraints that concern the choice of position z by the risk-averse and
risk-neutral types. As in the case of two signal values, we consider the (IC) constraints concerning
long positions only. A risk-averse type m > % prefers the position z(7) to positions chosen by other

risk-averse types if

_ {We—ﬁf(Z(W)d) r(1- 7r>e—ﬁf(—2(ﬂ)d)} > max 4 — [m—mz(ﬁ)d) (- W)e—m—z(ﬁ)d)] } (4.2)

- eld A
and prefers z(7) to the position Z of the risk-neutral type if

_ [m—ﬁﬂz(w)d) T (- W)e—ﬁf(—z(ﬁ)d)} > _ [m—ﬁf(éd) (- W)e—ﬁf(—id)} , (4.3)

The risk-neutral type prefers the position Z to positions chosen by risk-averse types if

S UG + f(=2d)] > max 2 [f(a(n)d) + F(~=(m)d)]. (4.4)

2 €L,

Generalizing the notation introduced in the case of two signal values, we denote by

the fee difference and average fee, respectively, for the risk-averse type 7.

The (IC) constraint (4.2) implies that the (IC) constraint (4.3) is met if there exists 7 € [, 7]
such that Z = z(m). The (IC) constraint (4.4) can be written as

f’z m
we|

x I'(m). (4.5)

77_r:|

= Q0

Lemma 4.1 derives necessary and sufficient conditions for the (IC) constraint (4.2) to hold. We
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denote by U(m) the utility of the risk-averse type 7

Uln) = — [m*ﬁf(Z(ﬂ)d) T(1- F)e*ﬁf(*Z(ﬂ)d)]

=— [We_gA(”) +(1- Tr)egA(”)} e~ Pl (4.6)

Lemma 4.1. The (IC) constraint (4.2) holds if and only if for all 7w € [3, 7| the following conditions
hold:

(i) A(m) is non-decreasing.

(ii) If A(w) is continuous at w, then U(w) is differentiable at m and
U'(r) = [egA(”) - e_gA(”)} e~ Pl (4.7)

If instead A(7) is discontinuous at 7, then U(w) has left- and right-derivatives at 7, which

are given by substituting the left- and right-limits of (A(w),['(m)), respectively, into (4.7).

Condition (i) of Lemma 4.1 is a sorting condition. When the risk-averse type is more optimistic
that the state S + d will occur, she must receive a higher fee in that state relative to the state
S — d. Condition (ii) of Lemma 4.1 is an envelope condition. If the functions (A(7),I'(7)) are
differentiable with respect to 7, then (4.7) can be derived by differentiating U (), given by (4.6),
and combining with the first-order condition implied by (4.2). Condition (ii) does not require,

however, differentiability or even continuity of (A(w),I'(7)).

Combining (4.6) and (4.7), we find

which integrates to

. Ul T e%A(Tr’) o e—gA(ﬂ'/ i r
(m) =U(@ e /7r rle~ 5AM) +(1 —W’)egA(”/) i (4.9)

~

Using (4.9), we can write the (IC) constraint (4.1) in terms of the function A(mw).

Lemma 4.2. The (IC) constraint (4.1) is equivalent to

(ST

A(') _ g~ EA()

T e
_/é mle5A) 4 (1- W’)eg

2ePK exp

wﬁ‘

! <1 4.1
A(ﬂ/)dﬂ'] h(m)dr <1, (4.10)
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and yields the following bounds on K and A(T):

e PE 9 (1 — 2/17T 7rh(7r)d7r> > 0, (4.11)

2

4ff mh(m)dr — e PK
2
_pK o 7 ’
e PK —2 (1 Qf% 7rh(7r)d7r>

PR > (4.12)

Equation (4.11) requires that the cost K of observing the signal is not too large. Given such
a value of K, (4.10) can be interpreted as a lower bound involving the fee difference A(w). The
intuition is the same as in the case of two signal values: to induce the risk-averse type to observe
the signal, the investor must pay her sufficiently more when she earns a high return than when she
earns a low return. The lower bound in (4.10) concerns the entire function A(w). For example,
(4.10) can hold even when A(r) is close to zero for 7 close to and larger than 3, provided that
at the same time A(7) is sufficiently large for larger values of 7. Using the monotonicity of A(m)
shown in Lemma 4.1, we can sharpen the lower bound implied by (4.10) to one pertaining only
to the scalar A(7). The latter lower bound, given in (4.12), generalizes to a continuum of signal
values the lower bound in (3.4) obtained for two signal values. Indeed, the case of two signal values
can be derived from the continuum case by taking the density h(m) to be a Dirac mass % at each

of the points 1 — 7 and 7. Substituting that density in (4.12), we find (3.4).

We next examine whether the investor can separate the risk-averse type 7 and the risk-neutral
type in terms of their positions. Under separation, the position z(7) of the risk-averse type 7
exceeds the position 2 of the risk-neutral type, and hence the investor can benefit from the risk-
averse type’s most informative signal. Lemma 4.3 shows that separation is impossible when the

lower bound in (4.12) exceeds A*(7), for A*(7) defined by (3.10).

Lemma 4.3. When the pooling condition

2 (1—2ﬁ 7rh(7r)d7r> <e K <2 <7—r+2
2

holds, %2 cannot be smaller than z(7).

™

wh‘

ch(n)dr — 47 /

7Th(7r)d7r> (4.13)

A sketch of the proof of Lemma 4.3 is as follows. If the position z(7) of the risk-averse type
7 exceeds the position Z of the risk-neutral type, then the fee differences must rank in the same

manner, i.e., A(7) > A, because the monotonicity of the fee implies

A~

A(m) = f(2(m)d) — f(=2(T)d) = f(2d) — f(—2d) + 2¢(2(7) — 2)d > f(2d) — f(—2d) = A.

13



Since the function Gz(A), which characterizes how the utility of the risk-averse type 7 depends on
the fee difference A holding the average fee constant, is decreasing for A > A*(7), and since A(7)
lies in that region because it exceeds the lower bound in (4.12), the risk-averse type & prefers any
A € [A*(7), A(T)) to A(7). Since, in addition, (4.5) implies I' > T'(7), the risk-averse type 7 can
be induced to accept (A(7),T'(7)) over (A,T') only if A is sufficiently smaller than A*(7).

Consider next the risk-averse type 7 € [%,7?) such by A*(#) = A. Since the optimal fee
difference for that type, holding the average fee I' constant, is A*(7) = A, and since (4.5) implies
I’ > I'(#), that type can be induced to accept (A(#),D(#)) over (A,T) only if A(7) = A*(7) = A
and ['(7) = [ > Max; (1 I'(r). In the proof of Lemma 4.3, however, we show that under
A(7) = A*(7) and T'(7) > Max, (1 I'(m), the (IC) constraint (4.10) can hold only if A*(7)

exceeds the lower bound in (4.12).

When the pooling condition (4.13) holds, the position Z of the risk-neutral type coincides with
that of an interval [1*, 7] of risk-averse types, for 7* € (3, 7). Thus, the investor pools the risk-
neutral type with multiple risk-averse types. To explain the intuition for this result, we start by
observing that the position z(w) of the risk-averse type 7 is non-decreasing in m: if z(w) were
decreasing, then A(7) would also have to be decreasing because of the monotonicity of the fee, but

this is ruled out by Lemma 4.1.

Since Z does not exceed max; (1 z(m) = z(7) and is not smaller than z(7), it has to equal
z(7). Thus, in choosing z(7), the investor determines the position of both the risk-averse type
7 and the risk-neutral type. If z(m) < z(#) for all 7 € (3,7), then 2(7) is equal to the position
of only those two types, and the investor determines the position of types 7 € (%,7’7) through a
separate choice of z(w). The investor sets z(7) and z(w) for m € (5,7) close to the values that
optimize his net-of-fee risk exposure for posterior probabilities that reflect the types that he is
facing (with closeness becoming equality in the limit where € goes to zero). The investor is subject

to the constraint that z(7) must be non-decreasing.

In the case of z(7), the unconstrained optimal net-of-fee risk exposure is zero. This is because
the investor is effectively facing only the risk-neutral type: that type has probability A, while the
risk-averse type 7 has infinitesimal probability given the continuous density h(w). In the case of
z(m) for w € (%, 7), the unconstrained optimal risk exposure is positive, and is bounded away from
zero when 7 is close to 7. Since the unconstrained choices yield a drop of z(w) at 7, but z(m)
must be non-decreasing, there must be pooling for 7 close to 7. The lower bound 7* of the pooling
interval is such that the unconstrained choice for risk-averse type n* is the same as for the types in
the pooling interval, i.e., the risk-averse types m € [7*, 7] and the risk-neutral type. This condition

yields a unique 7* € (3, 7).
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Proposition 4.1 determines the pooling interval [7*, 7], the optimal positions (z(7), 2), and the
condition under which the investor employs the manager, all in the limit when € goes to zero. The
optimal positions are expressed in terms of the fee difference A(r). The employment condition
is expressed in terms of A(w) and the average fee I'(w). Proposition 4.1 determines properties
of (A(m),I'(m)) but does not characterize these functions fully. Proposition 4.2 provides a fuller
characterization in the case where the manager’s risk-aversion coefficient p is large and uncertainty

is small.

Proposition 4.1. Suppose that the pooling condition (4.13) holds. When € goes to zero, the limits

of the investor’s and manager’s decisions have the following properties:

e The investor employs the manager if

< —, (4.14)

1
4

(1) [ A e T s e T et L

2

N[ =

where ™ € (%, ) is the unique solution of

*

21— 2) /:(w —Yh(m)dr + A (; _ w*> _o. (4.15)

o If (4.14) is satisfied, then the risk-averse types m € [*, 7| and the risk-neutral type choose

1 * A(T)
) =—I1 4.1
A7) = 50 og<1_7r*)+ a (4.16)
and have fee difference A(7) and average fee T'(7) = @. The risk-averse types T € [, 7*)
choose
1 T A(m)
=—1 . 4.1
2m) =58 (1 —77) T4 (417)

For m € (3,7, the fee difference A(r) is continuous and satisfies A(m) > A*(w). Moreover,
A(3) =0.

Equation (4.15) determines the pooling interval [7*, 7]. The length of that interval increases in

the probability A of the risk-neutral type. Equations (4.16) and (4.17) determine the investor’s net-

of-fee risk exposure z(7) — %. Net-of-fee exposure is continuous in 7, zero for m = %, increasing
for 7 € [1, 7], and constant for w € [7*, 7. For 7 € [}, 7], the investor sets net-of-fee exposure to

its unconstrained optimum conditionally on facing the risk-averse type = only. For = € [7*, 7|, he
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sets it to its unconstrained optimum conditionally on facing risk-averse types m € [7*, 7| and the

risk-neutral type.

The fee difference A(7) is constant in the pooling interval [7*,7]. Proposition 4.1 establishes
additionally that A(r) is continuous over (3, 7] and exceeds the level A*(7) that the risk-averse
type m would choose if she could vary fee difference holding average fee constant. The risk-averse
type m would face the latter choice problem if the fee were affine f(W) = ~(W — W). Hence,

Proposition 4.1 implies that an affine fee is not optimal.

The intuition why the investor over-exposes the manager to risk is as follows. Over-exposure for
the risk-averse type 7 is necessary to provide the manager with ex-ante incentives to observe the
signal, given that the signal’s cost exceeds the threshold implied by the pooling condition (4.13).
If, in addition, a risk-averse type m < 7 were under-exposed, then by raising her exposure (while
keeping it strictly below that of type 7) the investor could benefit in two ways. He would improve
ex-ante incentives to observe the signal, relaxing the (IC) constraint (4.10). He could also lower the
average fee I'(m) paid to type m, and by extension to all types [, 7) through the (IC) constraint
(4.2), because he would be bringing type 7 closer to her optimal level of risk.

Continuity of A(m) follows from the over-exposure result. Consider a point 7 at which A(m)
increases discontinuously. The investor could save on fees by lowering the exposure of types who are
close to and larger than 7, and for whom over-exposure is significant, and by raising the exposure
of types who are close to and smaller than 7, and for whom over-exposure is discontinuously less

significant.

We next return to the two limit cases considered in the previous section. The first is when the
risk-aversion coefficient p of the manager becomes large, while the risk-aversion coefficient p of the
investor and the product pK are held constant. In that limit, the fee difference A(7) is of order
%, as this suffices to make the (IC) constraint (4.10) hold as an equality when K is also of order
%. Hence, A(7) becomes negligible, and the position z(7) characterizes the investor’s risk exposure
not only gross but also net of the fee. Because the fee becomes negligible and the manager brings

valuable information, the investor always employs the manager.

The second limit case is derived from the first by taking asset payoff uncertainty to be small.
The probability 7 of S+d is %+ud, K is k—;, and p is Np, where N is large, d is small, and (p, k, p)
are held constant. The variable p takes values in the interval [—f, ] with density h(p). Since
h(r) is symmetric around 3, (1) is symmetric around zero. Proposition 4.2 shows that if h(y) is
non-decreasing in (0, fz], then the fee difference A() is constant in (3, 7] for sufficiently small d and
large N. The proposition additionally computes the constant value of A(m) and shows that it is of

order %; extends the fee function f(W) to all values of W; and provides a fuller characterization
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of when the investor employs the manager.

Proposition 4.2. Suppose that the pooling condition (4.13) holds. Suppose also that m = % + pd,
K = ﬁ , and p = Np, with d small and N large, and that the density h( ) is non-decreasing in
[0,t]. When € goes to zero, the limits of the investor’s and manager’s decisions have the following

properties additional to those derived in Proposition 4.1:

e The investor always employs the manager if % is of order smaller than d?, and never employs
her if % is of order larger than d*. If % and d? are of the same order, then the investor

employs the manager when

*

i 12
Z(1- ) [/0“ szz(u)dquu*/l:ufz(u)du] > Liog (i? h( Z ZZJr:), (4.18)
I 0 -

where Z denotes the limit of Nd?, and u* € (0, i) is the unique solution of
g *\ 7, *
200-) [ (u = il = 2 =0, (419)
w*

o If the investor employs the manager, then (A(m),I(r)) are constant in (3,7 and given by

1 Ydp + k 1
A(r) = — log o hudpt kY <> (4.20)
Np 4f0 (u)dp —k N
and I'(m) = (W), where o (%) denotes terms of order smaller than 3. Moreover, I'(1) is
given by
_ —PA(T) 4 1
e Pl(3) — %_ (4.21)

o An optimal fee for the investor is f(W) = 0 for W < —%, f(W) = I(3) for W €

[—AE A8 and f(W) = A(r) for W > &

5 General case

To be written.
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Appendix
Proof of Proposition 3.1. If the investor invests directly, then his utility is
1 —pzd zd
g [ (A1)

Maximizing (A.1) with respect to z, we find z = 0.

Suppose next that the investor prefers to employ the manager. As noted in Section 3, he induces
the risk-averse type to observe the signal and to choose a non-zero position. As also noted in Section
3, he induces the risk-averse type 7 to choose a long position z(7) > 0 and the risk-averse type
1 — 7 to choose the opposite short position —z(7). Moreover, he induces the risk-neutral type to

choose a long position Z > 0 and its opposite short position —Z with equal probabilities.
Given positions (z(7), 2) and fee levels (f(z(7)d), f(—z(7)d), f(2d), f(—Zd)), the investor’s util-
ity is

U=—(1-\) [ﬁe—p[zmd—f(z(fr)dn r(1- ﬁ)e—p[—zmd—f(—z(fr)d)]} _A [e—p[éd—f(id)] 1 eplzd—f(=2d)]]
2

(A.2)

The investor maximizes (A.2) over (z(7),2) and (f(2(7)d), f(—z(7)d), f(2d), f(—Zd)), subject to
z(m) >0, 2 > 0, the (IC) constraints (3.2), (3.5) and (3.6), and the non-negativity and monotonicity
of the fee. We refer to this optimization problem as (P).

We determine the optimal values of (z(7), 2) and (f(2(7)d), f(—=z(7)d), f(2d), f(—2d)) by show-
ing a number of properties that these must satisfy. A first property is Z < z(7). Suppose, by

contradiction, that Z > z(7), and consider the investor’s alternative choice of positions (z(7), (7))

and fee levels (g(z(7)d), g(—z(7)d), g(z(7)d), g(—z(7)d)) defined by

9(=2(7)d) = f(=2d),
9(2(7)d) = f(=2d) + f(2(7)d) — f(==(7)d).

Under (z(7), 2(7)) and (g(z(7)d), g(—=z(7)d), g(2(7)d), g(—z(7)d)), the risk-averse type 7 and the
risk-neutral type hold the same position z(7). Moreover, the fee levels g(z(7)d) and g(—z(7)d) that
both types receive are smaller than f(z(7)d) and f(—z(7)d), respectively, because f(—z(7)d) >
f(=2d) +€(2 — 2(7))d > f(—2d). The fee levels (g(z(7)d), g(—z(7)d), g(2(7)d), g(—=z(7)d)) satisfy
the (IC) constraints and non-negativity and monotonicity. The (IC) constraints (3.5) and (3.6)
are satisfied because fee levels are identical for the risk-averse and the risk-neutral type. The

(IC) constraint (3.2) and monotonicity are satisfied because g(z(7)d) — g(—z(7)d) = f(z(7)d) —
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f(—=z(m)d). Non-negativity is satisfied because f(z(7)d) — f(—z(7)d) > 0. Since payments to
the risk-averse type do not increase under the investor’s alternative choice, (A.2) implies that the

investor is better off under the original choice only if

_ [e—p[éd—f(éd)] + e—p[—éd—f(—éd)q > _ [e—p[z(ﬂd—g(z(ﬁ)d)] + e—p[—z(ﬁ)d—g(—z(ﬁ)d)}]

& PRI (=2)] |y p2d < pl==(W)A+IDD—L(~=())] | ox()d (A.3)

where the second step follows from the first by multiplying both sides by e (=24 and using the
definitions of ¢g(z(7)d) and g(—z(7)d). Since

f(zd) = f(=2d) = f(2(7)d) = f(=2(T)d) + 2¢(2 — 2(7))d > f(2(7)d) — f(=z(7)d),
(A.3) can hold only if

P2 f (@ d)—f(—=(@)d)] | pid < opl=2(Md+](=(M)d)~f(~=(@)d)] | pz(m)d
o ep2(®)d [ep@—z(ﬁ»d _ 1} < Pl M+ (@)~ f(—=(@d)] ] _ e—p@—z(ﬁ))d}

o P M gpi—2(M)d < pl==(T)d+f (W)~ (~=(7)D)] (A.4)

Since Z > z(7), (A.4) can hold only if
2(M)d < —z(m)d + f(z(7)d) — f(—2(7)d) < z(7)d — f(2(7)d) < —z(7)d — f(—=z(7)d) < 0.

Substituting into (A.2), we find

U<—(1-2)-— % [e,p[gd,f@dn n e,p[,ﬁd,f(,gd)q < (1= M) e

f(Zd)+f(=2d)
2

< -1,

where the second step follows from the convexity of the exponential function and the third step
because the fee is non-negative. That U < —1 is a contradiction because the investor prefers to

employ the manager and receives utility U = —1 if he invests directly.

A second property is that the (IC) constraint (3.6) must hold as an equality. Suppose, by
contradiction, that (3.6) holds as a strict inequality, in which case 2 < z(7). A (slight) reduc-
tion in f(—2d) can then raise the investor’s utility while preserving the (IC), non-negativity, and
monotonicity constraints. The (IC) constraint (3.6) is preserved because it holds strictly, and the
(IC) constraints (3.2) and (3.5) are preserved because the right-hand side of each is increasing in

f(—2d). Since (3.6) holds as a strict inequality,
f(=2d) = f(=2(7)d) > f(2(7)d) — f(2d) > €e(2(T) - 2)d,
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where the second step follows from the monotonicity constraint for fee levels (f(z(7)d), f(2d)). Since
f(—=2d) — f(—=(7)d) exceeds €(z(7) — %), reducing f(—2d) preserves the monotonicity constraint.
It also preserves the non-negativity constraint because f(—z(7)d) > 0.

A third property is f(—z(7)d) = 0. Indeed, if f(—z(7)d) > 0, then an equal (slight) reduction
in all fee levels (f(z(7)d), f(—z(7)d), f(2d), f(—Z2d)) raises the investor’s utility while preserving

the (IC), non-negativity, and monotonicity constraints.

Suppose next that the separating condition e ?% > 4(1 — 7)7 is satisfied. Consider the relaxed
version of the optimization problem (P) without the (IC) constraint (3.5). Since (3.6) holds as an
equality,

f(z(m)d) = f(2d) = f(=2d) — f(==(7)d). (A.5)

If the two sides of (A.5) exceed €(z(7) — £)d, then the investor can raise his utility through the
following changes: reduce f(—Zd) by a small ¢ > 0; raise f(2d) by ¢; raise Z by %; and lower
f(2(7)d) so that the (IC) constraint (3.2) is preserved. These changes leave the component

_A [efp[fdff(id)] n e,p[,gd,f(,gd)]]
2

of utility corresponding to the risk-neutral type unchanged, but raise the component

—(1-)) {ﬁe—p[zm)d—f(z(ﬁ)d)] +(1- ﬁ)e—p[—zﬁ)d—f(—z(ﬁ)d)}]

corresponding to the risk-averse type 7. The changes preserve the (IC) constraint (3.6) because
the left-hand side remains the same while the right-hand side decreases. They preserve the (IC)
constraint (3.2) because the second term in the maximum in the right-hand side decreases while still
exceeding the first term for small ¢. They preserve the non-negativity and monotonicity constraints

because the two sides of (A.5) remain larger than e(z(7) — 2)d. Therefore,

Using these equations and f(—z(7)d) = 0, we can write (A.2) as

U=—(1-)) [ﬁefp[zmdff(z(fr)dn r(1- ﬁ)epz(ﬂd]} _% [efp[édff(Z(ﬁ)d)JrE(Z(fr)fi)d} 1 epl-zd—e(z(m)—2)d]|

(A.6)
Equation (A.6) must be maximized over (z(7), 2, f(z(7)d)) subject to 0 < Z < z(7) and the (IC)
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constraint (3.2), which takes the form

_ |rePIE®D-K] 4 (1 ﬁ)eﬁK] > _1 [ef,amz(fr)d)fe<z<fr>fs>d1 1 e Pelz(m)—2)d (A7)
= 2

because the second term in the maximum in the right-hand side exceeds the first term. We refer to
this optimization problem as (P;). Since (3.2) implies the lower bound in (3.4), the monotonicity
constraint for fee levels (f(z(7)d), f(—z(7)d)) is satisfied if € is small enough so that the lower
bound exceeds 2ez(7)d. For e = 0, (Ps) reduces to maximizing

U=—(1-M\) [ﬁe—p[Z(ﬁ)d—f(z(ﬁ)d)] . T—F)epZ(ﬁ)d} _ % [6—p[2d—f(2(7‘r)d)] 1 epid (A.8)

over (2(7), 2, f(2(7)d)) subject to 0 < 2 < z(7) and

_ {ﬁefﬁmz(fr)d)fm . ﬁ)eﬁK] > ! [e*ﬁf(Z(ﬁ)d) n 1] , (A.9)

2

Equation (A.9) must hold with equality, otherwise the investor could raise his utility by reducing
f(z(m)d). This implies that f(z(7)d) = f(z(7)d) — f(—z(7)d) attains the lower bound in (3.4),
and is hence equal to A(7). Maximization of (A.8) over (z(7),2) yields the values in the propo-
sition. The optimal values of (z(7), 2, f(2(7)d)) for small € > 0 are close to their counterparts
for e = 0 because of continuity. Since the optimal f(z(7)d) for ¢ = 0 attains the lower bound in
(3.4), which is smaller than A*(7) because of the separating condition, continuity implies that the
optimal f(z(7)d) for small € > 0 is also smaller than A*(7). Hence, for small € > 0, f(z(7)d)
and f(2d) are smaller than A*(7). Equation (3.5) is thus satisfied, and the solution to the relaxed
problem is also the solution to the original problem. Substituting the ¢ = 0 optimal values of
(2(7), 2, f(2(7)d)) into (A.8), we find that the condition U > —1 for the investor to employ the
manager reduces to (3.14). The optimal fee in the proposition includes the ¢ = 0 optimal values
of (f(z(m)d), f(—=z(7)d), f(2d), f(—2d)). Since f(W) is equal to zero for W < 2d and to a positive
value for W > zd, both the risk-averse type 7 and the risk-neutral type are indifferent between
any position z > Z and prefer it to any position z € [0, 2). Therefore, the positions z(7) and 2 are

(weakly) optimal for the risk-averse type 7 and the risk-neutral type, respectively.

Suppose finally that the pooling condition 2(1 —7) < e PK < 4(1 — 7)7 is satisfied. If 2 < (%),

then we can use

fz(m)d) = f(=2(7)d) = f(2d) — f(=2d) + 2¢(2(7) — 2)d > f(2d) — f(—2d)

to obtain a contradiction following the argument in Section 3. Hence, 2 = z(7). Using this property

21



and f(—z(7)d) = 0, we can write (A.2) as

U:—[01—mw+;>wMﬂdﬂmw”+(u—Axy—m+;>wwW} (A.10)

Equation (A.10) must be maximized over (z(7), f(z(7)d)) subject to z(7) > 0 and the (IC) con-
straint (3.2), which takes the form (A.9). We refer to this optimization problem as (Pp). As in
the case of separation, the monotonicity constraint for fee levels (f(z(7)d), f(—z(7)d)) is satisfied
if € is small enough so that the lower bound in (3.4) exceeds 2ez(7)d. Equation (A.9) must hold
with equality, otherwise the investor could raise his utility by reducing f(z(7)d). This implies that
f(z(m)d) = f(2(7)d) — f(—=(7)d) attains the lower bound in (3.4), and is hence equal to A(7).
Maximization of (A.10) over z(7) yields the value in the proposition. Substituting the optimal
values of (z(7), f(z(7)d)) into (A.10), we find that the condition U > —1 for the investor to employ
the manager reduces to (3.15). The optimal fee in the proposition includes the optimal values of
(f(z(m)d), f(—z(7)d), f(2d), f(—2d)). Since f(W) is equal to zero for W < z(7)d and to a positive
value for W > z(7)d, both the risk-averse type 7 and the risk-neutral type are indifferent between
any position z > z(7) and prefer it to any position z € [0, z(7)). Therefore, the position z(7) is
(weakly) optimal for both types. O

Proof of Lemma 4.1. We first show that the (IC) constraint (4.2) implies that A(m) is non-
decreasing. The risk-averse type 7 prefers (A(w), (7)) to (A(#'),[(x')) if

- [Weng(”) +(1- W)egA(’T)] e PIm > {ﬂeng(”l) (1- 7r)e2A(7T )} e P, (A.11)
Conversely, the risk-averse type 7’ prefers (A(#’), I'(7’)) to (A(x), () if
- [ﬂ'e_BA(”/) +(1—- )€2A(7r )} e ) > [7‘( e 5AM 4 (1—m )62A(”)} e~ P, (A.12)

Multiplying each side of (A.11) by the corresponding side of (A.12) (after multiplying both equations

by minus one, to make their sides positive), we find

[re B804 1—w>e§A<ﬂ>} [e-gat >+<1_7rf>e§w>}
< [ LA(x) +( (n’ ] [ﬂ_/eng(ﬂ) +( ) gA(Tl’)i|
2
2

o (r ﬂ{wWNW_eAWNDPﬂ (A.13)

Equation (A.13) implies that if 7 > 7’ then A(7) > A(#’). Hence, A(7) is non-decreasing.

We next show that the (IC) constraint (4.2) implies that U(7) has the differentiability properties

stated in the lemma. Consider first a point 7 at which A(7) is continuous. Equations (A.11) and
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(A.12) imply
7-‘-,6_2A(7T) _|_ (]_ ﬂ/)egA(ﬂ-) e_ﬁp(ﬂ-) ~ Fe_gA(ﬂ-) + (1 — ﬁ)egA(ﬂ-)} e_ﬁr(ﬂ-)
_ _ > e~ PP) > . _ (A.14)
e 5 A 4 (1 — 77)ez A B B me 228 4 (1 — 7)e2A)

e
Since A(r) is continuous at , both fractions in (A.14) converge to e ?'(™) when 7’ goes to .

Equation (A.14) then implies that e='("™") converges to the same limit. Hence, I'(7) is continuous

at m. Using the definition of U(7) from (4.6), we find
Uy — U@y |7 880 4 (1= a)ef A el — e 8AM) 1 (1 — m)ef A | ool
w— - w— ’
(A.15)
Combining (A.15) with (A.11), we find
Ulr) — U) [ﬂ e 80 1 (1 - me%wq eI [m—%w +(1- w>e§A<w'>} =Pl ()
>
- - T —
- [e%’A(w’) _ e—g’A(w')} o) (A.16)
Combining (A.15) with (A.12), we find
U(r) — U(r) [Trleng(ﬂ) +(1— ﬂ.l)egA(ﬂ')] e—Pl(m) _ |:7Te*§_A(7T) +(1— ﬂ_)eg—A(ﬂ—)} ¢~ P(m)
<
T - - T -
fam) _ §A(w)] —pr'(m) (A.17)

Since (A(m), (7)) are continuous at m, the right-hand side of (A.16) converges to

JA(w)} o—PL(m)

when 7/ goes to m. Equations (A.16) and (A.17) then imply that U(W)r :7[{/(”,) converges to the same

limit. Hence, U(7) is differentiable at m, with U’(7) given by (4.7).
Consider next a point 7 at which U () is discontinuous. Since A(r) is non-decreasing, A(7) has

left- and right-limits at 7, which we denote by A(7~) and A(n™"), respectively. Equation (A.14)

written for 7’ < 7 implies that I'(7) has a left-limit I'(7~) at m, given by
(A.18)

e PL(m™) — _ _
me~88) 4 (1 — m)ez )
Consider next 7/ < 7" < 7 and the (IC) constraint that the risk-averse type 7’ prefers (A(#’), (7))

23



to (A(n"),T(x")). Taking the limit of that equation when 7" goes to m, we find
— (e A 4 (1- W')egA(”/) e P > [ﬂ’eng(”_) +(1- ﬂ')egA(”_) e PP (A19)

Combining (A.15) with (A.18) and (A.19), we obtain the following counterpart of (A.17):

[N1pST]

[Wleng(ﬂ’_) + (1 _ 7_‘_/)6 A(ﬂ")] e PL(T™) _ M%A(ﬂ‘) + (1 _ W)egA(ﬂ'_) e—PL(m ™)

U(r)—U(r")

IN

/ /

=T

_ [egA(f) B e_gA(w*)] o—PL(m™). (A.20)

™ =T

Since (A(m), (7)) have left-limits at 7, the right-hand side of (A.16) converges to

N NC eng(w-)} o—P0(r™)

when 7’ goes to 7 from the left. Equations (A.16) and (A.20) then imply that %;J,(”/) converges

to the same limit. Hence, U(w) has a left-derivative at 7, with U’(7) given by that limit. The

argument for the right-derivative is identical.

We finally show that properties (i) and (ii) in the lemma imply the (IC) constraint (4.2), i.e.,
(A.11) holds for all (w,#’). For this result and subsequent proofs we use (4.9), which follows by
integrating the ordinary differential equation (ODE) (4.8). The proof that (4.8) integrates to (4.9)
must account for possible points of discontinuity of A(7), which are at most countable because

A(r) is monotone. The function

LA _PA
2 —_ 2
HAm=—— —°°
me 28 + (1 — ﬂ)eiA
is increasing in A. It is also increasing in w for A > 0 and independent of m for A = 0.

Since A(rm) is non-negative and non-decreasing for = € [%,7], the function 7 — H(A(w),)

2
is non-decreasing. Hence, it is measurable, and the integral f: H(A(n"),n")dr" in (4.9) is well-
defined. Since U(w) and f: H(A(x"), n")dr" have left- and right-derivatives, the function K () =
U(r)exp [— f: H(A(x"), n")dr’ } has also left- and right-derivatives. Moreover, property (ii) in the
lemma implies that the left- and right-derivatives of K (m) are zero for all 7. Hence, K (7)) = U(7),

which implies (4.9).

Combining (4.6) and (4.9), we find

U(#) exp [ [T H(A(), ' )dr’

p

e Pl(m) — _ _
me~ 28 4 (1 — m)ez ™

(A.21)
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Substituting e ”'(™ and e=”'(™) from (A.21) into (A.11), we find that (A.11) is equivalent to

U(7) exp [ /7r m (A(7"), W")dw”}

ﬂe_gA(ﬂJ) + (]_ — ﬂ)egA(ﬂJ)
wle= 5T 4 (1 — 1/)esA)

! —EA(TI'/) B EA(ﬂ'I)
& 1< exp [—/ H(A(ﬂ‘”)ﬂr”)dﬂ-”] e 2 —+ (1 7T)e2

> U(7) exp [ /ﬁ W H(A("), w”)dw”]

w’eng(ﬂ") + (1 _ W’)ggA(ﬂ")’

where the second step follows by dividing both sides by
U(7)exp [/ H(A(ﬂ'//),ﬂ'//)dﬂ'”:| ,

which is negative. Since H(A, ) is increasing in A, and A(w) is non-decreasing,

exp [_ /:/ H(A(ﬂ”),w”)dw”] > exp [— /ﬂ v H(A(w/),w”)dn”]

= €Xp [[lOg (W//e_gA(W/) +(1— 7_r//)elg’A(7r/)>]7r:|
me B 4 (1 — ')eBAE)

me A 4 (1 —m)ezd) '

Equation (A.23) implies that (A.22) holds for all (7).

(A.22)

(A.23)

O

Proof of Lemma 4.2. Substituting U(n) from (4.6) into (4.1), after writing the latter equation

as

s /1” U(r)h(r)dr > U <1> ,

2
2

we find

967K / i U(7) exp [ /ﬂ " H(A(D), ﬂ’)dw'] h(m)dr > U(7) exp [ / " H(A(), w’)dw’] .

Dividing both sides by
U(7) exp [ / H(A(w’>m’>dw’] ,
1
2

which is negative, we find (4.10).

(A.24)

To derive the lower bound on A(7), we note that since H(A,7) is increasing in A, and A(w) is
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non-decreasing,

exp [— / ’ H(A(w’),w’)dw’] > exp [— / ! H(A(w),w’)dw’]
|

- el (A.25)

and hence

T . " N 2 3
/lexp[ /éH(A(?T),W)dW]h(ﬂ)dWZ e INES

2

Equations (4.10) and (A.26) imply

. e~ 5AR) ff wh(m)dr + 5 ff(l — m)h(m)dn
26pK 2 2 <1
A(7) B

e

[SIhsY)

A7)

[N

_l’_

1
§€

& 4/ wh(m)dr — e K < AT [e‘pK -2 (1 - 2/1 ﬂh(ﬁ)dﬂ)] , (A.27)

2 2

D[

where the last step follows by rearranging and noting that symmetry implies [ g h(m)dm = % Since
[1 wh(m)dr > 1 (because m takes values in (3, 7] with positive probability), (A.27) implies (4.11).
2
Dividing both sides of (A.27) by e K —2 (1 —2 7 7Th(7r)d7r> > 0, we find (4.12). O
2

Proof of Lemma 4.3. We first show that the left inequality in (4.13) is equivalent to the lower
bound in (4.12) exceeding A*(7). Equation (3.10) and Lemma 4.2 imply that the latter condition

is equivalent to

s

4 [T wh(m)dr — e PK -

: - > —.

e PK —2 (1 —2T 7rh(7r)d7r> l—m
2

(A.28)

Rearranging (A.28), we find the left inequality in (4.13). Equation (4.13) implies that A(7), which
exceeds the lower bound in (4.12), also exceeds A*(7).
We next show that 2 > z(7). Suppose, by contradiction, that 2 < z(7). Using (A(x),I'(r), A,T),

we can write (4.3) as

[N

— e BT 4 (1 m)eBAM] T > [rembA 4 (1 m)ebh| e (4.29)
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Generalizing the notation introduced in the case of two signal values, we set

GW(A) = — (WeigA + (1 — W)egA) ,
ePAT(m) — T

1—7"

Using Gr(A), we can write (A.29) as
Gr(A(r))e ™ > G (A)e L. (A.30)

Since Gz(A) is decreasing for A between A*(7) and the lower bound in (4.12), and since (4.5)

implies I' > I'(7), (A.30) written for 7 = 7 implies A < A*(7). Consider 7 € [£,7) such that

A*(7) = A. Since A*(#) = A maximizes G;(A), and since (4.5) implies I' > T'(#), (A.30) written

for 7 = # implies A(#) = A*(#) = A and I'(7) = I. Hence, (4.5) implies I'(7) = Max, (1 ().
Combining I'(7) = Max; o1 ['(7) and (A.21), and noting that U(7) < 0, we find
exp [fﬁH A(ﬂ'/),ﬂ'/)dﬂ'l} exp [fﬁH A(r'), n')dn'
_ > -
e 2A(rr) +(1— ﬂ)egA(w) e 5AR) +(1— )egA(fr)
—5A(m) — 1)esAm)
_exp[ / H(A dﬂ']—ﬂe Z - +{ W)e; — > 0. (A.31)
7e 22 4 (1 — #)ez2(®)

To derive the contradiction, we will show that (4.10) is violated for any A(7) that is defined over
[1, 7], is non-decreasing, and satisfies F/(r) > 0 and A(7) = A*(7).

Consider the problem of minimizing

/ exp[ / H(A dw]h( dr (A.32)

over A(m) that is defined over [, 7], is left-continuous with right-limits, and satisfies F'(7) > 0 and
A(m) = A*(7). The Lagrangian for this problem is

[ﬂ exp [— /ﬂ H(A(w’),w’)dw’} h(m)dm — /: F(m)p(m)dm

_ / exp[ / H(A dwhh() () + /ﬂ " ”‘“’_SA(T)+(1_”)e§§:u(w)dm

e 58 (1 - 7)e
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and yields the first-order condition

— Ha(A(7), ) /7r exp [— /W H(A(W"),ﬂ'”)dﬂ'"] [h(7") — p(n"))dn’
A() -

A(r)

[Slhstl

— e

=0. (A.33)

If F(m) > 0 for 7 in an open interval (my,m2), then for 7 in that interval p(7) = 0 and (A.33)

becomes

/ " exp [— / i H(A(w”),w”)dw”] h(x') — p(xYdr' = 0. (A.34)

Differentiating (A.35) in (71, 72), and using p(7) = 0, h(7w) > 0, (A.31) and F(7) > 0, we find

exp [— /: H(A(w’),w’)dw’} —0> :

a contradiction. Hence, the function A(7) that minimizes (A.32) satisfies F'(7) = 0 in a set that is
dense in [7,7]. Since A(w) is left-continuous and F(7) = 0, this set coincides with [7, 7]. Suppose
next, by contradiction, that A(7) is discontinuous at a point 7. Since A(7) is left-continuous,
7 # 7. Since, in addition, F(m) = F(r{) = 0 implies Gr(A(m1)) = Gr(A(r{)), and since
A(7) = A*(7), m1 # 7. Hence, m1 € (71, 7). Combining (A.33) for m and for 7} > 71, we find

p(m)Gr (A(m)  AE)GL(A)
Ha(A(m), m1)Ga(A(F)  Ha(A(T), 7)) Ga (A7) 0. (A.35)

If A(my) < A(mf), in which case A(my) < A*(my) < A(ny), G, (A(my)) > 0 and Gf (A(77)) <0,
then the second term in (A.35) is non-negative because p(m1) > 0, and the third term is non-
negative because (7)) > 0. If u(7]) > 0, then the third term is positive in the limit when 7} goes
to mp. Since the first term goes to zero in that limit, (A.35) is violated, a contradiction. If instead
p(m) = 0, then the first term is positive close to the limit because h(m) > 0, and hence (A.35)
is again violated, a contradiction. Therefore, A(mi) > A*(m1) > A(w]). If A(n) is discontinuous
at an additional point 75, then the same reasoning implies A(wh) > A*(7h) > A(r5"). Assume
without loss of generality that 75, > 7, and take the infimum 9 of the discontinuity points

that exceed my. The infimum 7o must strictly exceed 7 because otherwise taking the limit in

A(rh) > A*(rh) yields A(r) > A*(m). Hence, A(r) is continuous in the non-empty interval
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(m1,m2). Using (A.21) to differentiate F'(7) = 0, we find

_ _ _ =0
2 e 58 4 (1 - 7)e2A®
A/ 1 — N —2A(n)
o PA' () ﬁ?f)ef me Ty, (A.36)
2 e 28 4 (1 — #)e2t(®

where the second step follows by using F(r) = 0 and the definition of H(A, 7). Equation (A.36)
with the initial condition A(m}") < A*(m1) implies A(r) = 0 for m € (w1, m2), and hence A(n]") =
A(mg). This is a contradiction. Indeed, if 7y is a discontinuity point, then A(my) > A*(mg) >
A*(my) > A(n]). If instead, 72 is a continuity point and hence a limit of discontinuity points,
then taking the limit in A(m}) > A*(}) yields A(7) > A*(m), which implies A(ma) = A(my) >
A*(mg) > A*(m1) > A(r{ ). Therefore, A(r) can have at most one discontinuity point 7. Equation
(A.36) with the initial condition A(7) = A*(7) implies, however, that A(7) is of the form A(w) =
A*(w) for € [7r,m3] and A(7) = A(ns) for m € (w3, m1], where 73 € [7r, 1]. This implies A(71) <
A*(m), a contradiction. Therefore, A(7) is continuous over the entire interval [7,7]. Equation
(A.36) with the initial condition A(7) = A*(7) implies that A(w) is of the form A(w) = A*(nw)
for m € [7,m3] and A(mw) = A(ms) for m € (w3, 7|, where 73 € [7,7]. The solution that minimizes
(A.32) corresponds to m3 = m. That solution, which is non-decreasing, also minimizes (A.32) over
the set of non-decreasing functions that satisfy F(7) > 0 and A(7) = A*(7). Indeed, a non-
decreasing function has a countable set of discontinuity points, and left- and right-limits at those
points. By setting its value at the discontinuity points to its left-limit, we can transform it into a
left-continuous function with right-limits. Since this operation is performed at a countable set of

points, the resulting function yields an identical value for (A.32).

Using our solution of the minimization problem, we can show that (4.10) is violated for any
A(m) that is defined over [3, 7, is non-decreasing, and satisfies F(r) > 0 and A(#) = A*(#). We
write (4.10) as

2ePK { / " exp [— [ ! H(A(w’),w’)dﬁ’] h(m)dr

2

_ /7r H(A(ﬁ’),ﬁ’)dw'] /: exp [ /: H(A(T{'/),T{'/)dﬂ',] h(ﬂ')dﬂ'} <1. (A.37)

-

+exp

D=
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Since (A.32) is minimized for A(7) = A*(n),

[ exp[ / H(A dw]h(w)dwz /:exp [— :H(A*(w’),w’)dw'} h(r)dn

> / exp[ / H(A (7 dw]h(w)dﬂ, (A.389)

where the second step follows because A*(7) is increasing and H (A, 7) is increasing in A. Since

A(m) is non-decreasing, A(7) = A*(7), and H(A, ) is increasing in A,

exp [— /17r H(A(ﬂ’)jﬂl)dw’] > exp [— /17r H(A*(ﬁ),ﬂ)dw’] > exp

- / " H(A (), 1) dr

(A.39)

for 7 € [5,#], where the second step follows because A*(r) is increasing and H(A, ) is increasing

in A. Substituting (A.38) and (A.39) into (A.37), we find

2epK/ exp [ H(A*(ﬁ),ﬂ’)dﬂ"] h(m)dr <1
1 1
2

2

B 7 —LA*(F) 1— ZA*(7)
<:>2epK/ L ;I,_( 72)6*2 h(m)dr < 1
1
2
o

[T wh(x )d7r + 52T f§(1 — m)h(rm)dm

& 2ePK 2 _ _ <1,
_gA*(ﬁ) + %6§A*(7‘r) >

(A.40)

where the second step follows from (A.25). Solving (A.27) for e”2" (™) we find that A*(T) exceeds
the lower bound in (4.12). This contradicts (4.13). O

Proof of Proposition 4.1. If the investor invests directly, then he sets z = 0 and has utility —1.
If the investor prefers to employ the manager, then he chooses positions (z(7),2) and fee levels
(f(z(m)d), f(—z(m)d), f(2d), f(—2d)) for m € [, 7] to maximize the utility

U=-2(1- )\)ﬁ [m—p[Z(W)d—f(z(fr)d)} +(1— 7T)e—p[—z(W)d—f(—z(7r)0l)] h(r)dx
2
A o . .
_ 2 | emplEd=f(2d)] 4 o—pl—2d—f(—2d)]
: [e +e ] . (A.41)
The investor is subject to z(7w) > 0, 2 > 0, the (IC) constraints (4.1), (4.2), (4.3) and (4.4), and

the non-negativity and monotonicity of the fee. We refer to this optimization problem as (P).

When the pooling condition (4.13) holds, the problem (P) is equivalent to maximizing (A.41)
subject to the following constraints: (i) (4.10), (ii) A(n) is non-decreasing, (iii) U(m) is given by
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(4.9), (iv) z(7) and % are non-negative, (v) (2,A,T) = (2(7), A(7),T(7)), (vi) f(—z(7)d) = 0, and
(vii) fee monotonicity. Indeed, Lemma 4.1 shows that the (IC) constraint (4.2) is equivalent to (ii)
and (iii), and Lemma 4.2 shows that the (IC) constraint (4.1) is equivalent to (i). The argument in
the second paragraph after the statement of Lemma 4.3 shows that (ii) and (vii) imply that z() is
non-decreasing. A similar argument as in the proof of Proposition 3.1 shows that Z cannot exceed
z(7) = Max; (1 z(m). Combining this result with Lemma 4.3, we find 2 = 2(7), which implies
(v). Constraint (vii) and z(7) non-decreasing imply that non-negativity reduces to (vi). The (IC)
constraint (4.3) follows from (v) and the (IC) constraint (4.2). The (IC) constraint (4.4) follows

from Lemma 4.3 and (v).

Using (A(7),T'(7), A, T') and (v), we can write (A.41) as

A [e-ﬂ[zwd—%”] L o l@a20]] ra), (A.42)

The problem (P) reduces to maximizing (A.42) over (z(m), A(m),[(r)) for 7 € [, 7], subject to (i),
(i), (iii), (iv), (vi) and (vii). Since A(m) = f(z(m)d) — f(—=z(7)d), we must impose the additional
constraint (viii) A(w) is non-negative, A(m) = 0 when z(7w) = 0, and A(m) is constant in any

interval where z() is constant.

The limit when € goes to zero of the solution to (P) is the solution to maximizing (A.42) over
(2(m), A(m),[(m)) for 7 € [3, 7], subject to (i), (ii), (iii), (iv), (vi), (viii) and z(7) non-decreasing.
The reason why we can replace (vii) by z(7) non-decreasing when deriving the limit is that for all
e > 0 (ii) and (vii) imply z(7) non-decreasing, but for e = 0 (vii) is implied by z(7) non-decreasing

and (4.2) (or equivalently (ii) and (iii)) and is hence redundant.

Using (A.21) and I'(7) = @, which follow from (iii) and (vi), respectively, we can write (A.42)

as

U=-2(1-)) /7r [Wep[zor)d i (1— m)e” [z(w)d%’”}]
1

2
_ _ P
T —5A(m) SA(m) | »
P NN N + (1 —mez
X exp [_p/7T H(A(7"),m )dw} P £ B h(m)dm
A _ ) _
_ 2| emplr(md=Am)] 4 opz(T)d
. [e te } . (A.43)

The problem (P) reduces to maximizing (A.43) over (z(), A(r)) for m € [3,7], subject to (i),
(ii), (iv), (viii) and z(m) non-decreasing. In other words, (A.43) must be maximized over non-

negative and non-decreasing (z(m), A(m)), subject to the (IC) constraint (4.10) and the constraint
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that A(m) = 0 when z(7) = 0 and that A(m) is constant in any interval where z(7) is constant.

Without loss of generality, we can assume z(3) = 0 and hence A(3) = 0. Indeed, if z(3) > 0,
then we can set z(1) and A(3) to zero. Since the density h(m) is continuous, this change does
not affect the (IC) constraint (4.10) and the investor’s utility (A.43). Moreover, the functions
(z(m), A(7)) remain non-negative and non-decreasing, and the constraint that A(w) = 0 when

z(m) = 0 and that A(7) is constant in any interval where z(7) is constant, remains satisfied.

We next consider
7 =inf{r: 2(r) = 2(7)Vr € [7, 7|},

and show that 7 is equal to 7* defined in (4.15) and that z(7) is given by (4.16). Since z(m)

is constant in [#,7], A(n) is also constant in that interval. Equation (4.15) defines 7* € (3, 7)

uniquely because the left-hand side is decreasing in 7*, is positive for 7* = %, and is negative for

7 = 7. Equation (4.15) implies

2(1— A) /: rh(m)dr + % ) Kw - ;) /: rh(m)dr + ;/:(w - w*)h(w)dw}

*

1
5 —
jr*—A); /7r i (W - ;) h(r)dn, (A.44)

To show that 7 is equal to 7* defined in (4.15) and that z(7) is given by (4.16), we proceed by
contradiction. We assume that these properties are not true, and show that the investor can raise
his utility by changing z(7) while leaving A(7) the same. Since A(7) does not change, it remains
non-negative and non-deceasing, and the (IC) constraint (4.10) remains satisfied. Moreover, under
all the changes that we consider, z(7) remains non-negative and non-decreasing, and A(7) remains

equal to zero when z(7) = 0 and remains constant in any interval where z(7) is constant.

Suppose that @ < 7*, and consider first the case where

2(1— A) [T wh(m)dr + 2 ) A(7) (A.46)

AT < 5108 (zu “ N[ -mh(mdr+3) 24

If the investor replaces z(m) for all m € [7*, 71| by z(7) + ¢, for small ¢ > 0, then his utility (A.42)
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becomes

A(m)

U=—2(1- { / " [ﬂe—p[z@r)d— 2] 41 = myerlrtma-=s ]] O () dre

_olz( _Am@m] 7 (7 _Am] 7 _
—I—[e p[mrea-242] / rh(m)dr + o/ [0 257] / (l—w)h(ﬂ)dﬂ] epwr)}

*

A [e—ﬂ[(z(ﬂ)-ﬂb)d—“;)] +ep[<z<7r)+¢>d—%”>}] ). (A.47)

Equation (A.47) implies

oUu - [Z(fr)d—M] ( /7_r )\>
— =pd e’ 2 2(1 =X wh(m)dr + =
%), " [ (1= [ whimydn+

Hence, utility increases if

ou

% - > 06 2(7) < opd 108 (2(1—)\)f:*(1—ﬂ')h(7r)d7r—l—’2\ + —=. (A.48)

2d

2(1— ) [T wh(m)dr + 2 ) A(7)

Equation (A.46) implies (A.48) if

2(1 - A) [T wh(m)dr + 2(1 - A) [T wh(r)dr + 3

2(1—X) [T(1 —m)h(m)dr + 3~ 2(1—\) [L(1 - m)h(r)dr +
f;:* 7rh(7'r)d7'r + % fﬁ* (71' — %) h(ﬂ')dﬂ' o

™

(A.49)

= * 1—7* [T 1 < )
[ (1 =m)h(m)dr + -5 (r—3)h(m)de 1—7
2

m* ™

where the equivalence follows from (A.44) and (A.45). Equation (A.49) is equivalent to

f;* mwh(m)dm _ *
f:* (1 —mh(r)dr 1—7*

which holds because 7 < 7*.
Consider next the case where

2(1 - A) [T wh(m)dr + A(R)
(2(1 — ) JZ(1 — m)h(r)dr + ;) T od (A.50)

1

In the sub-case 7w > %, consider a small 7 > 0 and suppose that the investor replaces z(w) for all
m e [m—n,7| by (1 —¢)z(m)+ ¢z(7 —n), for small ¢ > 0. Under this change z(7) decreases for all

m € [ —n, 7| because z(mw) > z(7 — n). Moreover, the decrease is strict for all 7 € (7, 7] because
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z(m) = z(w) > z(7 —n). The investor’s utility (A.42) becomes

L N SNNG| () d A
U:—2(1—)\){/ [We plema-28] | (g L pyerlrmi-2 ]]epr(”)h(w)dw

1
2

+ /fT [ﬂ_e—p [[(1—¢)Z(W)+¢z(ﬁ_n)]d_ A(;)
#—n

— —@)z(m - —44 .
N [e p[[u ¢)2(7)+¢z(F—n)ld— =5 ]/ wh(r)dr

—@)z(m z(T— _Alm T =
P l0=0)2() +o2(r—mla— 2P / (1_W)h(ﬂ)dﬂ epr(ﬂ)}

i [e—ﬂ[[(1—¢)z(7r)+¢z(7%_77)]d_A(Qr)]

—P)z(m 2(F— _ A
] + (1 —W)ep[[(l 9)2(m)+ (7 —n)d—=3 ]] epr(ﬂ)h(ﬂ')dﬂ'

: (A.51)

Equation (A.51) implies

gg $=0 2= Aled /fr;[z(ﬁ =) = z(m)] [Tre_p[z(”)d_ ] (1— ﬂ)ep[Z(w)d— =2

+ pd[2(F — 1) — 2(7)] [e—p[d

30
Y
NE
=
N
[\
—~
—
|
>
S~—

p|=(m)a-2

/ﬁ " h(m)dr + ;)
)]

. (A.52)
Since (A.50) implies

o[22 (2(1 ~ ) /7: wh(m)dr + 2) _ep[ma- 2] (2(1 ~ ) /:(1 — m)h(m)dr + ;) <0,

the second term in (A.52) is non-zero and dominates the first term for small 7. Since, in addition,
z(7) > z(m —n), the second term in (A.52) is positive. Hence, g—g oo > 0.

In the sub-case # = 1, suppose that the investor replaces z(r) for all m € (#, @] by 2(%) — ¢, for
small ¢ > 0. The investor’s utility (A.42) becomes

(NI
-

—p|(z(7)— — &) i z(m)— —Am) g 7
U=-2(1-2) [e p[( (M=¢)d=" ]/ 7Th(7T)d7T—|—6p[( (@)=)d=" ]/ (1 —W)h(ﬂ')dﬂ'] ePt(m)

2

2

B % [ep[@(w)qs)d%")] [C

)—)d— A(ﬂ] oAU (A.53)
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Equation (A.53) implies

ol myd—AE T A
ou :—pdep[()d 2} 2(1—)\)/ wh(m)dr + -
a¢ ¢=0 % 2
2(7)d— 2 T A _
_ a2 (2(1 - /\)/ (1= m)h(r)dr + 2) el (R)
>
Since (A.50) implies that the term in square brackets is negative, %—g oo > 0.

Suppose next that 7 > 7*, and consider first the case where (A.50) holds. The investor can
raise his utility through the same change in z(7) as in the case where 7 < 7*, (A.50) holds, and
7> 1.

Consider next the case where (A.46) holds. Consider a small > 0, and suppose that the
investor replaces z(w) for all m € [# —n, 7] by (1 — ¢)z(7) + ¢z(7 —n), for small ¢ < 0. Under this
change z(m) increases for all 7 € [# —n, 7| because z(mw) > z(7 —n). Moreover, the increase is strict
for all m € (7, 7] because z(7w) = z(7) > z(7 —n). The investor’s utility (A.42) becomes (A.51), and
its partial derivative with respect to ¢ is (A.52). When (A.46) holds as a strict inequality, it implies
together with z(7) > z(@ — n) that the second term in (A.52) is negative. Hence, g—g o < 0, and
utility increases. When (A.46) holds as an equality, the second term in (A.52) is zero, and utility

increases if

ou 7 o[ a(m)d— A () A
% <0« 2(1—)\)pd/ [2(7—n)—2z(m)] |:7T€ p[ (=" ] +(1- W)ep[ (md="3 ]] T ™ h(m)dr < 0.
=0 —n
(A.54)

For small n, (A.54) is equivalent to

) —p[z(fr*)d—%] ) p[z(ﬁ*)d—@ . 1 * A7)

1— —1

fre +(1—7)e <0<:>z(7r)<2pdog T + 5

Hence, utility may not increase only if (A.46) holds as an equality and
. 1 7t A(77)
> — . .
z(7r)_2pdlog<1_ﬁ>+ ¥ (A.55)
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When (A.46) holds as an equality

- T_rﬂ' m)am A T
z@:1m<u1»gmw+g>+M>

2od C\2(1-\) [[(1—m)h(r)dr+5 ) 2d
o [T wh(r)dm + I f (m— 1) h(m)dr N A()
20d % \ [T (1= m)h(m)dr + = L [ (7= §) h(m)de 2d
1 T A(7)
<2pd10g<1—7r*>+ 2d (A.56)

where the second step follows from (A.44) and (A.45), and the third step follows from 7* < 7.
Equations (A.55), (A.56), z(7) = 2(7") > 2(7#7), and 7" < 7 imply A(7F) = A(7T) > A(77),
i.e., A(m) is discontinuous at 7. We next show that this discontinuity contradicts the optimality
of A(m). This implies that (A.46) cannot hold as an equality together with (A.55), and completes

our proof that 7 cannot exceed 7*.

To show that A(7) discontinuous at @ contradicts the optimality of A(), we distinguish cases.
Consider first the case @ < 7. Consider a small n > 0, and suppose that the investor replaces A()

for all m € [# —n, &) by A(77) + ¢, and replaces A(rr) for all m € (7,7 + n] by A(F) — ¢T, where

oHAR| LA

7N NN VN PN
! - 1 +

< —A<7r _A(—) 2¢ = PN L\ pAE) 2¢ =9, (A.57)

{We_p —i—(l—fr)e” 2 ] [WG 3+ (1—7)el 2 }
for small ¢ > 0. Since the (IC) constraint (4.10) can be written as
ZeﬁK/l exp [—/1 H(A(ﬂ%q/)dﬂ] h(m)dr <1, (A.58)
2 2

its left-hand side remains the same except possibly for terms of order smaller than ¢n. Equation
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(A.43) implies that the change in utility is of order ¢n, and is positive if

%A(ﬁ)ﬁ {ﬁe—p[z(md—%ﬂ] 1 - el

[fre*gA(ﬁ) +(1—7)e
r _ = _ _ #)esA@) _ 4o 5AM)
+ ’ﬁ_e—,o[z(ﬂ')d—A(2 )] + (1 _ A)e [ (m)d )] (1 _W)?Q mTe 2 ; ¢+
_ e~ A 1 (1~ 7)cBA0)
] e ( _luamya a6 () AGT)
—_ l#e EA(R )_|_ (1 _ﬁ_)egA(W*)} P {7’(’6 P{ (77)d > } B (1 B )el)[ (7=)d }

—p|z(7)d— Ar) PA(F z(7m)d— A — T
[fTe—ZA(fr) el _ﬁ)egA(ﬁ)}% e p[ (Md="3 legA( )—ep[ ( )7 2 ]6 24 )¢+
7e~ 28 4 (1 — 7)esA@)
g acn] NN
Als 5 A(am 2 e P|: (77)d 2 ]egA(ﬂ.—) Ep[ (77)d 3 ]e_pA(ﬂ_—)
> [7re 2AFT) L (1 — 7)e2T )}p = o
e 58FT) 4 +(1- Tr)ezA(” )
& [fe 800 4 (1= myefa@] [eﬂ[z<ﬂ>“‘f)]e%<w> -5 4o ]
L 5 Ajar] 241 —p|:z(7r’)d—A<g_)} BAfa p|:z(7r*)d— s )} 5 _
> [We_fA(” )—l—( ﬁ')eaA(ﬂ— )} i e e5ART) _ —5A(RT) ’
(A.60)
where the second step follows from (A.57). Equation (A.56) implies
e—p[z(fr)d—@] JBA(R) _ P [=(m)a- 2] [1— 7 N 1 ™ A
— 7
_ A(T) _ A(ﬂ'
1= e o, (A.61)

where the last inequality follows from A(7) > A*(7) > A*(7*). Equation (A.55) likewise implies

—plz(5— _AGED) 5 oA fA z(w~ _AET) p P — 7T » - -
. plz(77)d 3 } BAGFT) el’{( )d 3 :|e_§A(7r )< 1 7T€§A(ﬂ_ ) 7T e—gA(ﬂ')
7 1—7
_ - gefae)
AL 7)

Equation (A.61) implies that the left-hand side of (A.60) is positive. If A(77) < A*(7), then
(A.62) implies that the right-hand side of (A.60) is negative, and hence (A.60) holds. If instead
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A(77) > A*(7), then A(7) > A(7™) > A*(7) imply
#e 58 1 (1 — 7)eBAM 5 7 5AGFT) 4 (1 — 7)e3AE),
and (A.60) holds under the sufficient condition

—p[Z(v‘r)d—ﬁ]egA(ﬁ)_ep[z(ﬁ)d—ﬁ]eng(ﬁ) - e"’{z(*_)d‘¥

e e —e
(A.63)
Equations (A.61) and (A.62) imply that (A.63) holds if
= o [T tam s [T ogai - [F o), (64
* 1—m* T 1—m

Equation (A.64) holds because 7 > 7* implies

L-m sam _ | ™ —tam o [L=F 2am T 2@
* 1—7* s 1—7

and because A(7) > A(77).

Consider next the case 7 = 7. Suppose that the investor lowers A(7) by a small ¢ > 0. Since
A(m) for m < 7 remains the same, so does the left-hand side of the (IC) constraint (4.10). Moreover,
the only effect on the integral in (A.43) is through the term 7e~PA(T 4+ 1 — 7, which increases.
Hence, the term in (A.43) that corresponds to the risk-averse types increases. Since the term that

corresponds to the risk-neutral type also increases, utility increases.

Since 7 cannot exceed 7* and cannot be smaller than 7*, it is equal to 7*. If

L e ( 2(1 = \) [7. mh(m)dm + 5 ) L A@) (A.65)

21— \) [ (1 — 7)h(m)dr + 3 2d

then the investor can raise his utility through the same change in z(7) as in the case where 7 < 7*,
(A.50) holds, and # > %. If instead (A.65) holds as a strict inequality in the other direction, then
the investor can raise his utility through the same change in z(7) as in the case where & > 7* and
(A.46) holds. Hence, (A.65) holds as an equality, which means from (A.44) and (A.45) that z(7)
is given by (4.16).

To show that z(7) is given by (4.17) for w € (1, 7*), we maximize (A.42) point-wise over z(r),
without requiring that z(7) is non-negative and non-decreasing, and that A(7) is equal to zero

when z(7) = 0 and is constant in any interval where z(7) is constant. This point-wise maximization
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yields (4.17). Since A(w) is non-negative and non-decreasing, (4.17) implies that z(7) is positive
(

and increasing for m € % 7). The properties that z(7) is non-negative and non-decreasing extend
to the larger interval [%,ﬂ' : in the case of % because z(%) = 0, and in the case of [7*, 7] because
(4.16), (4.17) and A(7*7) < A(7) imply z(7*7) < z(7). Since z(w) is positive and increasing for
7 € (4,7), the constraint that A(7) is equal to zero when z(7) = 0 and is constant in any interval

where z() is constant is trivially satisfied.

We next show that A(m) > A*(n) for all 7 € (3,7]. This inequality holds for all 7 € [7*, 7]
because A(m) = A(7) > A*(7) > A*(m). To show that it also holds for all m € (3, 7*), we consider

7 =inf{r: A(r) > A" (m) V7 € [7, 7]}

and suppose by contradiction that 7 > l. Consider a small n > 0, and suppose that the investor
replaces A(w) for all 7 € [1 —n,7) by (1 — ¢)A(mw) + ¢A*(7) for small ¢ > 0, and changes z(m)
for all 7 € [# —n, @) so that (4.17) is satisfied for the new value of A(m). Under this change A(m)
increases for all € [T — n, ) because the definition of 7 implies A(7) < A*(7) for 7 < @. Since
H(A,7) is increasing in A, the left-hand side of the (IC) constraint (4.10) decreases and hence that

constraint remains satisfied. The derivative of the utility (A.43) with respect to ¢ is

Ul gp1—a {/ mexp[_/ﬂ m]

[(1 — 7r)e2A(”) e 2A(")} [We_gA(”) + (1 - 7[‘)62A(7r):|

il

[Te=PA™ +1 — 7]
4 21A% (7)) — A(m
_/_ ﬁA[ (1) ( )jA Qdﬂ[ V(1 =) exp [—/ H(A "dr'
= |:7T6 2 (’T)—i—(l—ﬂ')e? (“)}
B
2

h(m)dm (A.66)

plus terms of order smaller than f;ﬁn[A*(fr) — A(m)]dr. Since A(m) < A*(7) implies

(1 — #)e22(M _ e~ 54 < 0,
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the term

/fr : V(L — 1) exp [—p : H(A(), ﬂ/)dﬁf]
[(1 —m)es A We_gA(”)} [ﬂe‘gA(”) +(1— ﬂ)egam} O
’ [ﬁe*ﬁﬁ(ﬁ) +1— T—FJ [A(7) — A(m)]h(m)dn

SIS

in the curly bracket is negative or of order smaller than f:_n[A(ﬂ) — A(m)]dmr. Because the other

term is negative, utility increases.

We next show that A(w) is continuous for 7 € (%, 7|. Suppose, by contradiction, that there is a
discontinuity at 7 € (%, 7*]. Consider a small n > 0, and suppose that the investor replaces A(7)
for all m € [ —n,7) by A(77)+ ¢, and replaces A(7) for all w € (7,7 +n] by A(7T) — ¢T, where
(¢~,¢T) are defined as in (A.57) with A(71) instead of A(7). Since (4.16) and (4.17) imply

#t
Z(7AT+)d— A(Q ) 1—#

R e

e

7
(A.60) implies that the change in utility is positive if
BA(#F PA(#F S+l BA(#F PA(#F
[ﬁB_E ") 4 (1 — 7)e2AF )} g [(1 — 7)e2AF) _ fem s AR )}
B A fn 5 Aa\1E+1 BA A B A (A

> [fre—%A(” ) 4 (1 — 7)eBAF >} ? [(1 _ 7)eSAGT) g AG >]. (A.67)
Since A(7T) > A(77) > A*(7),

re BAGT) 4 (1-— fr)egA(ﬁﬂ > e 8AFT) 4 (1 —7)e2dF),
Hence, (A.67) holds under the sufficient condition

(1 — #)eBAF) _ 7o 588G 5 (1 = 4)eBAFT) _ ze=50GT) 5

which is satisfied because A(71) > A(77) > A*(7).

We finally derive the employment condition (4.14). Using (4.16), (4.17), and (A(w),I'(7)) =
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(A(7), @) for m € [n*, 7], we can write the investor’s utility (A.42) as

U=—4(1-\) /W* T\ /(1 — 7)h(x)dr

_ QegA(w)\/[2(1 ) /: h(m)dr + ﬂ [2(1 ) /:(1 _ )h(m)dr +

*

=—4(1-)) [[w* ePL(m) mh(ﬂ')dﬂ' n epA2(7'r) \/mf:* (7r7r—*

Do | >

|
)

h(m)dm

N[

, (A.68)

N |—

where the second step follows from (A.44) and (A.45). The utility (A.68) exceeds the utility U = —1
that the investor receives by investing directly if (4.14) holds. O

To prove Proposition 77, we first show the following Lemma.

Lemma A.1. Suppose that the pooling condition (4.13) holds. If

[T /a0 = mh(mydn ST /A0 = mh(m)dn

[X(m — #)h(m)dn ~ (27t — 1) [T(1 — 7)h(m)dn

(A.69)

for all & € (3, 7], then A(r) is constant in (3, 7).

Proof of Lemma A.1. Showing that A(r) is constant in (3, #] amounts to showing that # defined

by
7 =inf{r: A(n) = A(7) V7 € (7,7}

is equal to % Since A(m) is constant in [7*, 7|, 7 does not exceed 7*. Suppose, by contradiction,
that 7 € (3, 7*]. We will construct a change in A(r) that raises the investor’s utility while keeping
the left-hand side of the (IC) constraint (4.10) unchanged. Before constructing that change, we
rewrite the (IC) constraint (4.10) and the investor’s utility using that A(7) is constant in (7, 7]

and that z(m) is given by (4.16) and (4.17).
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Since A(m) is constant in (7, 7|, we can write the (IC) constraint (4.10) as

267 [ / " exp [— / i H(A(w/),vr’)dw’] h(m)dn
+exp | — / " H(A(ﬂ’),ﬂ’)dw’] /ﬂ " exp [— /ﬂ ﬂH(A(ﬁ),ﬂ’)dw’} h(w)dﬂ] <1

o 2ePK [/W exp [— /I7r H(A(W'),ﬂ’)dw’] h(m)dn
e 5AM [T wh(m)dr + e A® f:(l - ﬂ)h(ﬂ')dﬂ'] <1 (A70)

N

D=

™

— 7rHA7T',7T’d7r' > 5
J, . ] re TR0 3 (1 77850

+exp

where the second step follows because the same calculation as in (A.25) implies

exp | — TFH A7), 7")d ’} = _
xp[ /ﬂ (A7), 7" )dm we T 1 (1 7)o BA®

for m € |7, 7).

Since A(m) is constant in (7, 7], we can write the investor’s utility (A.43) as

T T Y PSRN ) () d— A
U=-2(1-\)exp [—2/ H(A(ﬁ),ﬂ')dw'] /1 |:7T6 p[ (md==3 ] + (1 —71')6'0[ (m)d="3 ]
T 3
= = P
7 —LA(m) _ LA(m) | 7
P noongt| | TE 2 + (1 —me2
X exp [_p/7T H(A(n"), )dﬂ':| 7oA 117 h(m)dm

—2(1=2M)) /7_r [ﬂ'e_p[z(ﬂ)d_N;)] +(1- Tr)ep[z(ﬂ)d_ A(jq]

e~ 5AF) +(1- ﬂ)egA(ﬁ)
e PAM +1 -7

X exp [—g /W " H(A(ﬁ),w’)dﬂr’}

A [e—p[zﬁ)d—A(frn n epz(fr)d} , (A1)

2

Since the same calculation as in (A.25) implies

e — 7rH A7), 7)d ’} = _ _
Xp|: /7; ( (7-() 7T) ™ We_gA(ﬁ)—{—(l—Tr)egA(ﬁ)
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for m € [7, 7|, we can write (A.71) as

U=-2(1-Xe

X exp [—g /ﬁ " H(A(w’),w’)dw’}

_ 21— \) / " [m—p[zmd—A(fr)] (- ﬂ)epzmd} h(r)dr — % [e—p[Z(ﬁ)d—A(fr)] n epz(ﬁ)d}
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where the second step follows from using (4.16), (4.17), (A.44) and (A.45).

Consider a small > 0 and suppose that the investor replaces A(r) for € [, 7] by A(7) — ¢,
replaces A(r) for 7 € (3, % — 5] by A(r) + ¢, and replaces A(r) for 7 € (& —n, #) by

<1_ﬁ_ﬂ> A - ¢*]+

Ui

— T (A —n) +¢7],

i.e., the point in the line linking (7 —n, A(7 —n)+¢~) and (7, A(7) — ¢T). The constants (¢, ¢™)
are positive, and such that A(7) — A(m —n) > ¢ + ¢~ so that A(7) remains non-decreasing. The
investor also changes z(m) for all = € (3, 7] so that (4.16) and (4.17) are satisfied for the new value
of A(m). Under this change, A(m) becomes more uniform in (3, #]: larger for m € (3,# — 5], and
smaller for 7 € [7,7|. To compute the change in the investor’s utility and on the left-hand side £

of the (IC) constraint (A.70), we compute the separate effects of changing ¢t and ¢~.

Changing ¢t affects A(r) for 7 € [# — n,7|. For small 7, the dominant term comes from
considering values of 7 in [7, 7] only, and can be computed by taking the opposite of the derivative

of (A.72) and £ with respect to A(7). This yields

o
folonn

_op(1 — A)ehA® {2ﬁegA(ﬁ)
p+=0

[We_gA(”) +(1- W)egA(”)}

xéﬁmexp[ / H(A dw}[

fe 5@ 4 1- ﬁ_)egA(ﬁ)} b

+/ VAl = m)h(n)dr + /7" f (W“) )dﬂ} +o(n), (A.73)

l\.D\»—A

43



and

oL
P

5 +o(n). (A.74)

o+=0 e 587 4 (1 — )0

= 2pe”X exp [— ﬁﬁ H(A(7"), W')dﬂ'] {

Changing ¢~ affects A(r) for m € (3,#]. For small 5, the dominant term comes from considering

values of 7 in (%, 7 — n] only. This yields

ou — —2p(1 — N)e5A® {ﬁﬂ S =) exp [_Z H(A(ﬂ'/),ﬂ'/)dﬂ'/]

L

B 2 /ﬂ / P T N,
- - - 7'(1 — 7') exp [— H(A(x"),n")dn
/; [ﬂ.e—gA(W) + (1 _ ﬂ_)egA(ﬂ—)}Q % P Jr

B
e 5AT) +(1— 71_/)6§A(7r’) s
X ~ ~ h(zx")dr'dr 3 + o A.75
and
7 1 7 i
8(9£_ - 2,06”K/ - 5 [/ exp |— H(A(#"), ”)dw”] h(z")dn'
9" lg-=0 3 [W@‘?A(”) +(1 W)egA(”)] ™ 2
i “5AM (T ap(n)dr + €32 [F(1 - m)h(r)d
e .~ wh(m)dr + e m)h(m)dn
texp |~ [ H(A(r"), n")dr’ f”A —(”A( ) - J i ) Jh(m) dm + o(n).
i e 22 (1 — 7)ez (7
(A.76)
The overall change does not affect the largest-order term in £ if
oL oL
307 |mo” T 0|,y
and raises U if
ou ou
— ¢t + — ¢~ > 0. (A.78)
907 |mo” T 90|,y
.. . oL oL
Combining (A.77) and (A.78), and noting from (A.74) and (A.76) that 96% | 41 _g > 0and 57= o <
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0, we find that utility increases if

U LU‘

9 _ 96— | _

— $7=0 — $7=0 (A.79)
907 | 41— a?’qr:o

Equations (A.73), (A.74), (A.75) and (A.76) imply that (A.79) holds under the sufficient condition

S /a0 = () + /o (= ) e ()
2

ffr (m— 7T)h(7r)d7r

_ _ _ _ L_q
[(1—#)65A(”)—7re_§A(”)] {we‘gA(”)ﬁ-(l—ﬂ)egA(”)} ?
h(

T /m(l =) exp {—@ ﬁH(A(W’),W’)dW’} . m)dm
2 ren {fre AM L (1- 7r)e2A(“)} AN
> = - — -
[e*%%’f) T wh(m)dr + e3A® [T(1 - w)h(w)dﬂ} 5 dn

1 N 2
2 |:7T677 ™ (1 w)eQA(ﬂ):|

(A.80)

If (A.31) holds as a strict inequality in the other direction for some 7 € (3, #), then (i) (A.21)
implies that I'(7) > I'(7) and (ii) the same argument as in Lemma 4.3 implies that A(7) exceeds
the lower bound in (4.12) and hence exceeds A*(7). Equations A(7) > A(w) > A*(7) > A*(7) and
I'(m) > I'(7) yield a contradiction since they imply that the risk-averse type o cannot be induced
to accept (A(7#),T'(7)) over (A(w),I'(7)). Hence (A.31) holds, and (A.80) holds under the sufficient

condition

f V(1 —7m)h(m)dr + /7* f h(ﬂ
fﬁ (m — 7r)h( )dm
# 7r(1—7) {(lfw)egAw)fTre*gA(ﬂ)} h(m)dm

2 |:7_(_677A(7r)+(1 7_(_)62A(7r):| |: 7%A(ﬁ')+(1_7¢r)egA<ﬁ'):|

[ 850 [ eh(m)dr + €50 [7(1 — mp(mda] J7 i

(A.81)

2
2 {We 2A(ﬂ-)+(1 W)GQA(W)

Since the function

) h(m)dm

N[ —

/ o s A dw+\/ﬁf“*( -

N)\»—A

is decreasing, as can be seen from




(A.81) holds under the sufficient condition

fﬁ Vr(l—m) {(1—ﬂ)egA(7r)—7re_§A(7r):| h(m)dm
1

17 /rd = m)h(r)dn ? [re B0 amef A0 [re B4 1o BA)|
i Y - > — _ ___ _ .
Ji (= #)h(m)dn [e_gA(”) [ wh(m)dr + ) [ - ﬂ)h(ﬂ')dﬂ'} IR - dr 5
2 |:W€—‘%A(ﬂ-)+(1_ﬂ_)egA(7r)
(A.82)

Since A*(7) < A(m) < A(%) for 7 € (5, 7),

[ﬁe—gwf) +(1- fr)e%ﬂ] [e—gﬂv’r) T wh(r)dr + €55 [T(1 - W)h(w)dw]

[We_gA(”) +(1- w)egA(”)} ’
[fre‘gA(ﬁ) +(1- fr)egﬁ(ﬁ)} [e—%ﬂ 7 wh(r)dr + €85@ [7(1 - w)h(w)dw}
> - -
[’/Te_%A(ﬁ—) +(1- ﬂ)egA(ﬁ)} ’
. (1 —#) [T(1 — 7)h(n)dr
(1—m)? '

Since, in addition,

1— m)ed® — re=5Am

(1= ) o

me” 280 4 (1 — 7)e2A(m)
(A.82) holds under the sufficient condition

J7 VA= mh(xydr J{ V(1 = m)h(m)dr (A83)

f;(ﬁ — m)h(m)dr (1—7) f;r(l — m)h(m)dr f%ﬁ (1577;)2

which is equivalent to (A.69). O

Proof of Proposition ??. Lemma A.1 implies that A() is constant in (3, 7] if (A.69) holds for
all # € (3,7*]. Making the change of variable 7 = § + ud, we find that when d is small (A.69)
holds for all i € (0, @] if

Sy 3h(w)du Jo' 3h(p)dp
M= h(wydp 24 [1 Sh(p)dp
) , -
& U”“ l}(u)du} >/ﬂ (u — ﬂ)ﬁ(u)duW. (4.84)
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To show that (A.84) holds, we first show that () increasing implies

(A.85)

i3 PN
R

I
Equation (A.85) is equivalent to the function

NG =i [ b= ) [

being positive. The derivative of N (/1) is

N —

NG = [ itd [ o= hia) = [ hodn = i) = 5 = ),
i

0

If h(y) is increasing, then N'(71) is decreasing and hence N(ji) is concave. Since N(fi) is zero at

=0 and {1 = p, it is non-negative.

Equation (A.85) implies that (A.84) holds under the sufficient condition

which holds. Hence, A(rr) is constant in (3, 7], and so is I'(r) because of the (IC) constraint (4.2).

Since A( ) is constant in (%, 7], it is equal to the lower bound in (4.12). Using this property and
setting m = 3 + ud, K = % and p = Np in (4.12), we find (4.20). Equation (A.18) applied to the
right-limits of (A(x),T(w )) at 1, and combined with A(}) =0, A(}") = A(7) and (1T) = &2
yields (4.21).

The optimal fee in the proposition includes the optimal values of f(z(w)d) and f(—z(w)d) for

T € [3,7], and of f(2d) and f(—2d). Since f(W) is equal to zero for W < —#
( )

and to a

positive value for W > , the risk-averse types m € ( , 7] are indifferent between any position

z > ( ). Since (4.21) ensures that the risk-averse type 5 is indifferent between the zero position

A7) (Tr)

and any position z > ==, the risk-averse types 7 € ( 7| prefer any position z > to the zero

position, and so does the risk-neutral type. Therefore, the position z() is (weakly) optlmal for the

risk-averse type 7, and the position Z is (weakly) optimal for the risk-neutral type.

We finally derive the employment condition. Equation (4.19) defines p* € (0,7) uniquely
because the left-hand side is decreasing in p*, is positive for p* = 0, and is negative for p* = f.

Setting 7 = 1 + pud in (4.19), we find 7* = J + p*d. Setting I'(7) = @ for all 7 € (3,7, we can
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write (4.14) as

pam | [P 1 R 1
& (1- Ve A VF‘“%%WM“+VZ_O‘%p<éfmmm+2u—xﬂl<4
1 4 o h(p)dp + k 1
A T <4f(i”ﬁ(u)du—k> <N>]
1 ) ; g 1
[4(1 -y —/0 prd*h(p)dp — (i) d? (/ﬂ h(p)dp + 0 A)> +0(d4)] o (A80)

where the second step follows by making the change of variable 7 = 5 L 4 4d and using 7* =3 Ly uxd,
the third step follows from (4.19), and the fourth step follows from (4.20). Rearranging (A.86), we

can write it as

il 4 [B h(u)dp + k
2N 4f“ w)ydp —k

*

_4(1—>\)d2[/ou 2h(p)dp + (u (/h Y + 1/\_/\)>

4
@L1 S8 h(p)dp + k
2N 4f0 w)dp —k

—4(1 = N)d’ [/u pPh(p)dp + i /M ph () dp

0 w*

+o<$>+ow%<0

+o0 (;) +o(d*) <0, (A.87)

where the second step follows from (4.19). If % is of order smaller than d?, then the dominant term
in the left-hand side of (A.87) is negative, and hence that equation is satisfied. If % is of order
larger than d?, then the dominant term in the left-hand side of (A.87) is positive, and hence that

equation is not satisfied. If % and d? are of the same order, then requiring that the dominant term

in (A.87) is negative if equivalent to (4.18). O
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